.............

@

ﬁ .
PERAT






#ZX 2 BES#DRYMET LF#%

SBEIA T—108 03

T=15 808
T=2068F18
T=258 18
T (mm) ez E E L R8s
A1B: AL & FL:4R (3 4 5 6 7 8 12 15 20
¢d: ': LFB LFB LFB LFB LFB LFB LFB LFB LFB
3 i5 -0303 -0304 -0305 -0306
4 ‘6 -0403 -0404 -0405 -0406 -0408
5 7 -0503 -0504 -0505 -0506 -0508
6 ‘8 -0603 -0604 -0605 -0606 -0607 -0608 -0612
7 o -0705 -0706 -0707 -0708 -0712
8 10 -0805 -0806 -0807 -0808 -0812 -0815
9 11 -0906
10 ‘12 -1006 -1007 -1008 -1012  -1015  -1020
12 114 -1206 -1208 -1212  -1215 -1220
13 115 -1308 -1312  -1315 -1320
14 ‘16 -1412 -1415 -1420
15 17 -1508 -1512  -1515 -1520
16 ;18 -1612 -1615 -1620
17 19 -1715
18 ‘20 -1812 -1815 -1820
19 22 -1915 -1920
20 23 -2012 -2015 -2020
22 | 25 -2212 -2215 -2220
24 | 27 -2415 -2420
25 28 -2512 -2515 -2520
26 30 -2615 -2620
28 s 132 -2812 -2815 -2820
30 ! p 134 -3012 -3015 -3020
31 35 -3115
32 :36 -3220
35 ‘39 -3512 -3520
38 | 42 -3820
40 | 44 -4012 -4015 -4020
45 : '50 -4520
50 55 -5020
55 160
60 ‘65
65 70
70 ‘75
75 | 80
80 185
85 190
90 95
100 : 100 105
110 : 110 1115
120: 120 1125
130130 _ 1135
140 | 140 1145
150 | 150 155
160160 165




O EAEEEIR

@EEDRYMET LF RURS R TR EEMEE - BEAR
AREHEAZREXAW

@xRAEHAEREOR » iRCO.3 °

OESUYEZER EEZERNIMY » YLIFHRBEXRBHS
BNTE EMBEHEENS BRI

EMENE ILFB- d L

AR RE
- .
E E L A E s ‘4
25 30 35 40 50 60 70 80 90 95 100
LFB LFB LFB LFB LFB LFB LFB LFB LFB LFB LFB (1R 1B
3 5
4 6
‘5 7
‘6 8
7. 9
‘8 10
9 11
‘10 12
‘12 14
‘13 15
‘14 16
-1525 15 17
-1625 16 18
‘17 19
-1825 ‘18 20
-2030 i19 22
-2025 -2230 (20 23
-2225 -2430 122 25
-2425 -2530 ‘24 27
-2525 -2630 -2535 ‘25 28
-2625 -2830 ‘26 30
-2825 -3030 28 32
-3025 -3130 -3035 -3040 -3050 ‘30 34
-3125 -3230 -3140 ‘3135
-3225 -3530 -3240 32 36
-3525 -3830 -3535 -3540 -3550 i35 39
-3825 -4030 -3825 -3840 38 42
-4025 -4530 -4035 -4040 -4050 40 44
-4525 -5030 -4535 -4540 -4550 45 50
-5025 5530 -5035 -5040 -5050 -5060 ‘50 55
-5525 -6030 -5535 -5540 -5550 -5560 ‘55 60
-6530 -6035 -6040 -6050 -6060 -6080 160 65
-7030 -6540 -6550 -6560 65 70
-7530 -7035 -7040 -7050 -7060 -7070 -7080 170 75
-7535 -7540 -7550 -7560 -7580 175 80
-8040 -8050 -8060 -8080 ‘80 85
-8540 -8550 -8560 -8580 ‘85 90
-9040 -9050 -9060 -9090 ‘90 95
-10050 -10070 -10080 -10095 -100100 100 105
-11050 -11070 -11095 -100100 110 115
-12050 -12070 -12095 -120100 120 125
-13050 -13080 -130100 130 135
-14050 -14080 -140100 140 145
-15050 -15080 -150100 150 155
-16050 -16080 -160100 160 165

T e



B®A[l

\Va¥,Y,

=
.y

ZRXZEES#DRYMETLF#%

7 N8
.

FTFRR S R

(mam)

MERAATL

BB g ayiny

cmgnxre || ax A SHBEE  (c) (a)
#HRZ 1.0 BF 03 05
R/E 1.5 B 05 0.8
BRMEME(LFF) RE 208 05 10
HRE 25 8% 05 10
MER T, REART  (mm) XY DB RELZE L,
W@;%@;%ﬁé_!aém . EEEIL  #mER 0 Mg (3 4 5 6 7
¢d gD sF RT A= Ry AER,. T 12 LFF __LFF _LFF_LFF  LFF
3 46:7 :3 o 4.6 207 0.8 gos 08 5. 1-0303 -0305
4 569 :4 B 56 7 : ” ; & -0404 -0406
5 7 10 ‘5 ” 78 P W0 8. 108 . -0504 -0505 -0506
6 8 12 6 ” '8 ’ : " i # -0605 -0606 -0607
7 9 13 7 0050 9 ¥ e » -0705 -0707
8 10 15 8 T 10 ” - -0806
9 11 16 9 " ‘11 s ” 7
10 12 (18 10 2 12 . " ” -1006 -1007
12 (14 i20 12 39% 14~ g * -1206  -1207
13 115 21 13 * ‘15 ” " 7
14 16 22 (14 16 & ” i
15 17 23 15 ” 17 ¢ ” *
16 (18 24 16 il 118 4 ‘ "
18 20 26 18 ¥ 120 ¢ bl " ; .
20 23 :31 20 oo 23 t LB e 15 %a
22 25 33 22 % 25 7 : ” ; #
24 27 35 24 ” 27 ” : 7 o
25 28 36 25 i28 " : ¥ | i
26 30 38 26 ” :30 ” 120 T 20 0.
28 132 40 28 ” 92 e % : »
30 34 42 30 ¥ 34 a : .
31 35 45 31 0% 35 " : ”
32 36 46 32 " 36 ” : :
35 '39 49 35 a 39 g ” : "
38 42 52 38 ¢ 142 " ” g "
40 44 54 40 ” (44 ” ] ? : *
45 50 60 45 “ 50 * 255 &8 o5 O
50 '55 65 .50 ’ 55 Q0% # : ”
55 60 .70 55  3%% ‘g0~ F
60 65 (75 60 ¢ 65 * ” .




OFERETESER

@5 DRYMET LFAUIES M + ARARSIA0ES - (SRR
BRERASBARR ©

OESSHREBEME o

ORSUH BN W2 EBMY + WLIFRH KB H
RIAE » B AR5 R A 87K o

@SR AL BB IHAE o

ESESE I LFF-4 L

RE OELUTRE

M@E L F R E L )

o3 B E 8 S
8 10 12 15 20 25 30 40 :
LFF LFF LFF LFF LFF LFF LFF LFF R
'3 4.6
4 56
‘5 7
-0608 ‘6 8
e 7 9
-0808 -0810 8 10
-0910 9
-1008 -1010 -1012 -1015 10 12
-1208 -1210 -1212 -1215 12 14
-1310 -1315 ‘13 15
-1410  -1412 -1415 14 16
-1510 -1512 -1515  -1520 15 17
-1610 -1615  -1620 16 18
-1810 -1812 -1815 -1820 ‘18 20
-2010 -2012 -2015 -2020 -2025 ‘20 23
-2210 -2212 -2215 -2220 122 25
-2415 -2420 -2425 24 27
-2510 -2512 -2515 -2520 -2525 25 28
-2615 -2620 26 30
-2812 -2815 -2820 ‘28 32
-3012 -3015 -3020 -3025 -3030 , 30 34
-3125 '31 35
-3220 -3225 -3230 ‘32 36
-3512 -3520 -3525 -3530 -3540 '35 39
-3820 38 42
-4012 -4020 -4025 -4030 -4040 40 44
-4520 -4525 -4530 -4540 45 50
-5020 -5030 -5040 '50 55
-5530 -5540 ‘55 60
-6030  -6040 60 65




HBHIEARS E#500SP#R e spw 28
E ] e = il R
A €0.3~1 ( 4 A
< _i\_ I-..-“ » l i i T
o ol REsHT
= F = = A f :
2““8.5-___ __.__!PR:‘%‘_’A‘:: s |
e e T
| R1~4 .=
L L __ |
Q@iCS# d8 - —MA(EER) OE XA AERTIFA
5 Hmﬁ(spa) e7 : —REB(BAT) BCSSPWHES(EHE -
: s 17 : mEES
EIE(HER) - TEEHH
# S & (mm) E E L n o= Ba
A84 AR S48 8 10 12 15 16 20 25 30 35
d AZ|sD AEISPB SPB SPB SPB SPB SPB SPB SPB SPB
8 8 tooi3 | 12 loooz |-081208 -081210 -081212  -081215
10 |10 # 14 i -101408  -101410 -101412 -101415 -101420
12 |12 98% |18 i -121808  -121810 -121812  -121815 -121816 -121820 -121825  -121830
13 |13 i 19 ohel -131910 -131912 -131915 -131920
14 [14 = 20 ” -142010  -142012  -142015 -142020  -142025  -142030
15 (15 2 21 ¥ -152110 -152112 -152115 -152116 -152120  -152125  -152130
6 [16 ”~ 22 * -162210  -162212  -162215  -162216  -162220 -162225 -162230 -162235
18 [18 ” 24 " -182412  -182415  -182416 182420 -182425 -182430
20 20  :3%% |28 i -202810  -202812  -202815  -202816  -202820 -202825 -202830 -202835
20 ” 30 ” -203016  -203020 -203025 -203030 -203035
25 |25 33  fazs -253312  -253315  -253316  -253320 -203025 -253330 -253335
25 & 35 il -253512  -253515  -253516  -253520 -253525 -253530 -253535
30 30 ” 38 -303812  -303815 -303820  -303825 -303830 -303835
30 i 40 = -304012  -304015 -304020  -304025 -304030  -304035
315|315 838240 ” -314030
35 35 kil 44 ” -354425  -354430  -354435
35 45 i -354520  -354525 -354530 -354535
40 40 & 50 ¢ -405015  -405015  -405020 -405025 -405030 -405035
40 ” 55 A3 -405530  -405535
45 d 55 g -455530  -455535
45 (45 g 56 ¥ -455630  -455635
45 7 60 ” -456030  -456035
50 = 60 z -506020 -506030  -506035
50 (50 ” g2 .~ -506230  -506235
50 " 65 ” -506530
55 |55 123%3 170 ”~ -557030  -557040
60 60 ” 74 ” -607430 -607435
60 ” 75 7 -607530  -607535
63 (63 ” 5 "
65 |65 % 80 i
70 70 i 85 sy -708530 -708535
70 ” 90 "
75 g 90
75 1757 g5 ”
80 i 96 7
50 80 " 100 ”~
90 (90 385 |110 ”
100100 ~ 120 7
110 (110 ” 130 2380
120|120 ~ 140 ”~
125 (125 283 |145 7
130|130 ~ 150 ”~
140 (140 "~ 160 ”~
150 (150 ”~ 170 ”~
160160 "~ 180 ~




OFEAITEER

@ 5 4500SPHE (SPB)7E: 0¥ » IEER FE BRI EMH o
@E AR e EE - FAACS B A#500SPRE(SPW)HEER o
@FRFEEkPEA o
@R E31.5mmEB /hBE R E & (trunnion)#iE o

ERBIE:SPB-d D L
NG 58 B

£ E L 3y 59 AN OB OB
40 50 60 70 80 100 120 130 140 150 : [ #
SPB SPB SPB SPB SPB SPB SPB SPB SPB spB 8 ® sSPW
8 12 —
10 14 .-1003
12 18 :-1203
‘13 19 i-1303
‘14 20 -1403
‘15 21 -1503
-162240 16 22 -1603
18 24 :-1803
-202840  -202850 - ‘20 28 :-2005
-203040 ‘20 30 "
-253340  -253350  -253360 25 33 -2505
-253540  -253550 25 35 °
-303840  -303850  -303860 i30 38 .-3005
-304040  -304050  -304060 ‘30 40 7
314040 ;315 40 : —
354440  -354450  -354460 '35 44 :-3505
-354540  -354550  -354560 '35 45
-405040  -405050  -405060  -405070  -405080 40 50 -4007
| - -405540  -405550  -405560 40 55 "
-455540  -455550  -455560 45 55 -4507
-456640  -455650  -455660 45 56 .~
-456040  -456050  -456060  -456070  -456080 145 60 "
-506040  -506050  -506060  -506070  -506080 ‘50 60 -5008
-506240  -506250  -506260  -506270 50 62 "
506540  -506550  -506560  -506570  -506580  -5065100 ‘50 65 ~
557040  -557050  -557060  -557070 55 70 -5508
-607440  -607450  -607460  -607470  -607480 ‘60 74 -6008
-607540  -607550  -607560  -607570  -607580  -6075100 60 75
-637560  -637570  -637580 ‘63 75 -
-658040  -658050  -658060  -658070  -658080 ‘65 80 -6508
708540  -708550  -708560  -708570  -708580  -7085100 (70 85 :-7010
-709050  -709060  -709070  -709080 (70 90 .~
759050  -759060  -759070  -759080  -7590100 {75 90 |-7510
.759560  -759570  -750580  -7595100 175 95 " B
-809640  -809650  -809660  -809670  -809680  -8096100 -8096120 80 96 :-8010
8010040 -8010050  -8010060 -8010070 -8010080 -80100100 -80100120 -80100140 80 10:”
-9011050  -9011060 -9011080  -30110100 -30110120 ‘90 110:-9010
-10012050 -10012060 -10012070 -10012080 -100120100 -100120120 -100120140 1100 120:-10010
-11013050 11013070 -11013080 -110130100 -110130120 ‘110 130 —
-12014070 -12014080 -120140100 -120140120 120140140 {120 140 -12010
-125145100 -125145120 125 145: —
- -13015080 -130150100 -130150130 ;'130 150: —
-140160100 ] -140160140 1140 160!
-15017080 -150170100 -150170150 : 150 170 i
-16018080 _-160180100 -160180150 160 180 —

-6-



HRBIEA RS E#500SP#% B o
' s 7 RO.3~RA1
! T— T
| T Qedl & ¢
| o] 3 S
| - A 1
tLAEs= sy
R - s
R -
OiS# #ARS
B HHE(SPF) 7. _WR(MA®  sa-LiTRos
. el : — n =B ;
EE(IERE) - FEESA 17 BIEEE #d=LIFR1
o <t 5 (mm) E E L A E 8
@Eﬂé 2 I . ¢ 10 15 20 25 30 35
_od A% oD NE BHFFE /AXISPF __SPF___SPF___SPF___ SPF___ SPF
0 10 el M s 92 12 s+ [-1010  -1015  -1020
12 12 gq 58 7 25 3 ” <1210 -1215 -1220  -1225  -1230
13 13 " g fisiiog ” -1315 -1320
M4 4 ” 20 “ 27 " " -1415  -1420 -1425
5 15 ” 29 " 28 " " -1510 -1515  -1520 -1525 -1530
16 16~ 22 “ 29 7 ” -1615  -1620 -1625 -1630 -1635
20 20 9% :30 ” 40 ib # -2015  -2020 -2025 -2030 )
25 PR Y B8 G 45 .17 ¥ -2515  -2520 -2525 -2530 -2535
30 30 ~° 40 " 50 " ” -3020 -3025 -3030 -3035
815 315 3B, 40 . 50 :” " -3120 -3130 -3135
35 35 ” 45 " g0 " ' -3520 -3525 -3530 -3535
40 40 ” 50 " g5 " % -4020  -4025 -4030 -4035
45 45 " 55 2em iy 1 " -4530  -4535
50 50 ” 60 " 75 " ” -5030 -5035

55 55 puwies "  igg it ”
60 60 ” 78, Q¢ gn iyps *
63 63 ” 75 igs i~ &
70 70 7 g5 a0 T ”
75 75 ” ‘90 ” 110 1 ”
80 80 ~ (100 ” 120 10 ”
90 90 99 i110 -3%1% (130 i” B
100 100 ” 120 “ 150 ” 4
J20 120 * G140 <bpdEi4q7p it




OFEREEERR

& E H#SOOSP&Kﬁi(SPF)Ezﬂﬁ R R R EE T
.ﬁ&ﬁ&ﬁ%ﬁlﬂﬂ%ﬂl °

@B EEKPEA o

@RE31.5mm » 63mmER AEE PRI #(trunnion) i E
QAR RTIRrIATR >
QI FEHB U RIBFIZERBAAAQT o

EMBI5R - SPF- d L

RE RE
& i L 2 2 o A4
40 50 60 67.5 80 100 ) )
SPF SPF SPF SPF SPF SPF .
10 14
12 18
13 19
14 20
15 21
-1640 16 22
-2040 20 30
-2540 -2550 25 35
-3040 -3050 30 40
-3140 31.5 40
-3540 -3550 35 45
-4040 -4050 40 50
-4540 -4550 -4560 45 55
-5040 -5050 -5060 50 60
-5540 -5560 55 65
-6040 -6050 -6060 -6080 60 75
-6367 63 75
-7050 -7080 70 85
-7560 75 90
-8060 -8080 -80100 80 100
L -9060 -9080 90 110
-10080 -100100 100 120
;1_2080 -120100 120 140




LM raasisis

Metric Dimension Series Used In Asia

RER AJE OPEY
Standard type AJ type OP type
W | B % Model No. 1 o
A I i - e e B | e A I P
mm | LU g g LM-UUAS g g LM UU-OP gy g | e
3 |3 | 4 135 — — —i — e | = || 8 .
T e e e = = Ly
5 |im suu | 4 | 4 — — |l = — |- |—|*5 B
6 [l ouu| 4 |76 [Mobuas| ¢ | 75| — | —|— |6
8 |im ssw| ¢ | 04 [uesuyas 4 | 0 — 8
i | guu 4 | 15 |thevuas | 4 | 147 e | T e 5
10 tm Jouu | 4 285 LMtoubas| 4 | 29 thSS-OP! 3 | 28 |10 9
12 LM 1200 4 |9 tmiﬂﬂm 4 | # tmiﬁﬁ.op' 3 | 25 | 12
13 I :guu__ 4 | 43 tmgﬁﬂum 4 | 22 tmggs-om 3 | 84 |13
16 [iwdeuu | 4 | % [woguas 4 | % Lwieguor 3 |52 | 16
| 20 P ooy 5 | 99 _ tmﬁgﬁﬂ.‘u 5 | 8 tmggﬁtﬁ-op 4 | 69 | 20
| 30 ™ gguu_{_s_ 20 e B | 245 tmigﬁﬂop' 5 | 210 | 30
35 tﬁ ggU_L_l_ g _| & tﬂigﬁﬂ:m 6 | %84 tmgggﬂ-w 5 3 | 35|
40 | douu | 6 | 565 |[Masauas| © | 579 [Iheeonop 5 | 50 |40 |
50 | ' souu | © |58 imsouu.as 6 | 580 twegou.op 5 | 1340 50
60 | 'moouu | © | "8 {veouu-asl © | 1820 iMeouwop| 5 160|600
80 | M souy | 6 | 4420 [Vaoli.ag 6 4300 {Weohop 5 3650 80 | 15




B -
™M
T A
L0000 0e00 006
fa)(=) I 5 i &\j'
LM LM...AJ LM...OP
FZR Y R E Main dimensions and tolerance B EB | BEAXEREE @
D L B Eccentricity| FIF% | Basic load rating | yominal
BE| [AE] (BB el mm|mm| 8| um |G| WEE | #EE | S5
namic 5
mm n‘:r'annoe mm o‘:u'@“nce mm o:mce mm m um (?ikgﬂ Co?l‘::gf] mm
7 10 = SRy ey P— — - 7 10.7 3
PR | (R 0o
81 9 [ 420 [— gl e | ool s ol s o @ L E
10 15 10.2 11|98 —|— | — 4 17 21 5
12 ; 19 135 114|115 1 | — | — 21 27 6
15| 4 |10 MEB| . IAETMA | = | = 18 22 8
\ i b2 24 175| 200 |11 (143 1 | — | — 28 40 8
19 29| 9 |2 13|18 | 1 |68 80| 12 38 56 10
- -200
21 0 30 23 13|20 |15| 8 | 80° -4 42 61 12
23| 13 |32 23 1322|185 9 | 80° 52 80 13
28 37 26.5 16| 27 |15 11 | 80° 79 120 16
32 : 42 305 16 305| 15| 11 | 60° -6 90 140 20
40 | 45 | 9® 41 185/ 38 | 2 | 12| 50°| 15 100 160 25
45 64 445 185| 43 | 25| 15 | 50° . 160 280 30
52 5 70| O Jags5| O |21|49 |25 17 | 50° 170 320 35
= -300 -300 :
60 | .o |80 60.5 21|57 | 3 |20 |50°| 20 |-10 | 220 410 40
80 100 74 261|765 3 | 25 | 50° - 390 810 50
90| o0 |110 85 315|865 3 | 30 | 50° 480 1020 60
“iag| 22 0 0 Aol =
120| - 140 | 400 |1055| 400 |415/116| 3 | 40 | 50 -20 750 1630 80

-10 -




LME B2z

Metric Dimension Series Used Mainly In Europe

1= AR AJE OPHEY
Standard type AJ type OP type
" i A %8 Model No. B

WA | BB || ye.ay | WK | BB \ypop | WK | 2B

—‘;ﬁiﬁm Weight || ME...uU-AJ le%c?rfmt Weight || we uu-op Ba{ﬁﬁit Weight ‘A 7= Tolerance
- 3o 4 g | 4 [0 — — E=EE B
5 iMesuu | * | P llMemsboa ¢ 95— — — 8
12 |fietsuu | 4 | 41 il 4 | 40 |iNEmovop| @ | 2 | 12
16 elouw | ¢ | 57 Meleuvas ¢ %6 lMEbor O #1649
w [l || e Moy e T | 4
25 [Messuu  © 215 lugtiag 6 212 [{MEmbnop 5 | 181 25+
o [DES [ s [ [HERA ooy EME S [0 |
(a0 =R, [ o [7os [HEAR o [ooe [HAEHOE 5 [ |0 |
50 | [mEsouu | © 1130 [MEUuas 6 | 1110 [MEUey 5 970 | 50 _123
60 mggguu 8 ‘2-050&:2223‘6_“‘ 6 | 2000 tﬂﬁgﬁﬁﬁmi 5 |1,580 605

A1 -



FERY E ¥ B Main dimensions and tolerance B | &S BEATREE i
D L B Eccentricity | BIF# | Basic load rating | yominal
Tt T Towrae i n?:n mhm n:‘r:-n 91 um °§+ WER | BEE | s
namic static
mm | " [mm | PN | mm | R MM um | Cikgh | colkgn | mm
122 o0 |22 14.5 11115 1 | —| — % 21 27 5
16| 8 |25 16.5 11162 1 | — | — 27 41 8
0 0 12 - - s = e DS~
22 32 5|7 ; 52 12
2] 0 990 |29 ooy [ 18] 21|15|75| 78 P 79 12 |
26| 9 |36 24.9 13|249/15| 10 | 78° 59 91 16
32 45 315 16 (303| 2 | 10 | 60° k 88 140 20
. 0 o NS LT AR e |
i 40 - 58 441 185|375| 2 |125|60°| 15 100 160 ) 25
_ - 1 | - _
47 68| 0 |(5214| O |185|445| 2 [125]| 50° s 160 280 30
62| o |[80| 300 |ggg| 300 |242| 59 | 3 |16.8| 50° o 220 410 40
75 | -13 100 77.6 265| 72| 3 | 21| 50° - 390 810 50
| 9 | 95 1125 Qo (017 430 |315(865] 3 |272] 54| 20 480 | 1,000 | 60

-12 -



LMB =3k

Inch Dimension Series Used Mainly In USA

1 Ko TS

mER AJE OPH!

Standard type AJ type OP type
i E §8 Model No.
:a:g':g" LMB gg \?‘Ein LMB...AJ Eg v;!ii& LMB...OP gg a3 _im n"’—
| LMBL.UU gy g | LMB.UU-A iy g | LMBLUUOP gy g | M | BT
6350 LMB4 | 4 | 80 t:Ejﬁﬂ;M 4 | 75 - — | — | 630
daos| LNE0 . |4 | e (IRERAML | 4 s — — | — | 0
o RNl MERETIE - R
s M0 oo A, e g s
o B | 5 e M s UEEE . m ww o
soiod) HMER,, | 8 | (DERML] e | op| 5 | 170 |zaw| 10
w8, o | wo BB o oo HSBEe & wnum
son] e, | o | o | o | o M 5 | o ww|
50.800| rMBazuy | 6 |1.140 [[MBIA | 6 | 1,120 | MEsa0f ol 5 | 980 | 5080



FER YK % E Main dimensions and tolerance B’ L | =a HEAERESE BT
D L B Eccentricity | fEIF% |  Basic load rating | yominal
2R faEl L] R il 8] e MEE TR | S5
ce nce
mm umm mm um mm um wm &!(l;:énf)_ Co(kgf} mm
0 I T
12700 2, (19050 12.98 &92 11.906) 1 5 21 2
15875 22.225 16.15 0.992(1493% 1 | — | — 23 32 |9.525
22.225 0 31.750 . ° i 12.700
: 1. . 5|87 ; 52 7 :
4% o0 |2446] ,po |1.168/20853| 1.5 | 8700 | 80 r 9 00
28575 38.100 28.04 1422(26.899| 1.5 | 95% | 80° 59 120 |15.875
7500 0 |41.275 29.61 1.422|29870| 1.5 |11.113| 60° 1 ; 88 140 |19.050f
30688 -16  |57.150 4457 1.727(37.306| 1.5 |11.800| 50° 100 160 |25.400
50.800 66675 O |5092| O |1.727(47.904| 2.5 |15875| 50° ot £ 160 280 [31.750
“ 0 -
B35 7620 -300 16126 300 |2184|56870 3 [19.050| 50° 222 410 [38.100
76.200 101,600 81.07 2616(72085 3 [25400| 50°| 25 | -13 | 390 810 ]50.800

-14 -



LM...L ng2@assgs)

Long Type Series(Metric Dimension)

FERIRRBE

Nﬁfﬁl A % Model No. ek gﬁ o =

daimn"f.ﬁ':ﬁ, kMII-_UU Balﬁ iu“ We;ght mm ﬂi;?:‘erance mm ﬂ%l%emnce
6 CMeLuu 4 L ¢ = g
o HMEL, e w | s .|
10 Lo otion 4 62 10 0 19
12 LM 12Luu 4 s e 0 Ll "
13 LM 13CuU 4 > i B 46
16 CRy e Lii 4 145 16 28 o
20 wiwne 5 180 20 . 2 .
25 T EET 6 440 25 4, | % e
30 T Ul 6 480 30 s |
35 M Y 6 795 35 A
40 LM 40LuUU : L = a5 | @ 22
50 Y e o0 6 3,100 50 80 -
60 e 6 3,500 60 o 90 2

-15 -



ey e R

dr

T
N/

Main dimensions and tolerance B EXERETE
Basic load rating
| — = W | D1 | Eecentricly e
mm /3= Tolerance mm 43%= Tolerance dynamic static
um um mm mm C(kgf) Co(kgf)
35 27 1.1 11.5 33 54 6
45 35 1.1 14.3 44 80 8
55 44 1.3 18 60 112 10
0 0 15
57 300 46 300 1.3 20 83 160 12
61 46 13 22 83 160 13
70 53 1.6 27 125 240 16
80 61 16 305 143 280 20
112 82 1.85 38 20 159 320 25
123 89 1.85 43 254 560 30
]
135 0 99 0 2.1 49 270 640 35
151 -400 121 ~400 2.1 57 25 350 820 40
192 148 2.6 76.5 620 1,620 50
209 170 3.15 86.5 30 770 2,040 60

-16 -




LMF

iR (DHIRAE)

LM K Flanged Type Series(Metric Dimension)

LMF LMK

EEI::, 7l &  Model No.

o 8 LMF LMK

mm

6 LMF 6 LMF 6UU LMK 6 LMK 6UU
8 LMF 8 LMF 8SUU LMK 8S LMK 8SUU
8 LMF 8 LMF 8UU LMK 8 LMK 8UU
10 LMF 10 LMF 10UU LMK 10 LMK 10UU
12 | LMF 12 LMF 120U LMK 12 LMK 120U
13 | LMF 13 LMF 130U LMK 13 LMK 13UU
16 LMF 16 | LMF 16uU ' LMK 16 LMK 16UU
20 LMF 20 LMF 20UU LMK 20 LMK 20UU
25  LMF 25 LMF 25UU LMK 25 LMK 25UU
30 | LMF 30 LMF 30UU LMK 30 LMK 30UU
35 LMF 35 LMF 35UU LMK 35 LMK 35UU
40 LMF 40 LMF 40UU LMK 40 LMK 40UU
50 | LMF 50 LMF 50UU LMK 50 LMK 50UU
60 LMF 60 LMF  60UU LMK 60 LMK 60UU
80 | LMF 80 LMF 80UU LMK 80 LMK 80UU
(100 LMF 100 LMF 100UU LMK 100 LMK 100UU

AT =



LMF

4-%83,
4-Mounting hole

Df

FER TR EE Main dimensions and tolerance \ EXEREE -
dr D L (3 #& Flange JE’.L?' EAE Basic load rating ‘ii! ﬁ,ﬁ
BE| [BE| [ZEIDI K | t [ Dp| X | Y| Z | o R |
mm | imm [ mm |0 mm | mm | mm | mm | mm | mm | mm | 4T M Sl 9 | 'mm
6 12 19 28| 22| 5 |20 |35]| 6 |31 21 |27 | Xl 6
e——— 0 hs  EREIER —l
8 18,0 | 77 32 |25 | 5 |24 |35 3.1 18| 22| 218
8 15 24 32|25 5 |24 |35| 6 |31 28 |4 | I8
e el O R i il — - wuis RIS
10| o |19 20| 0 [40 |30 | 6 |29 |45|75|41| 12 (12|38 |5 | )10
12 21| 0 |30/200| 42 | 32| 6 |32 | 45|75 4.1 52 | 61 | of12
13 23 | -13 | 32 43 | 34 | 6 | 33 | 45| 7.5 | 4.1 52| 80 | X413
16 28 37 48 | 37 | 6 | 38 | 45|75 | 41 79 [120 | 2] 46
20 32 42 54 | 42 | 8 | 43 |55| 9 |51 ﬂ 9% | 140 | )20
— 0 0
340
25| |40 10 59 62 |50 | 8 |51 55| 9 |5115| 15| 100|160 | 30125
30 | 45 64 74 | 58 | 10 | 60 | 66 | 11 | 6.1 160 | 280 | 4] 30
35 52 70| o |82 |64 | 10|67 66| 11 | 6.1 170 [ 320 | 201 35
e 0 0 | | S ] R
-300 1,060
40| |s0| |80 9% | 75|13 | 78 |9 | 14 81|20 | 20 | 220 | 410 | 'GP 40
50 80 100 116| 92 | 13 | 98 |9 | 14 | 8.1 390 | 810 | 2231 50
60| o |90 | o |110 134 | 106 | 18 | 112 | 11 | 17 |11.1 480 [1,020 3201 60
hasl e 25 | 25 : B
80 | -15 |120| 22 [140| o |164 |136| 18 | 142 | 11 | 17 [11.1 750 [1,630 g%g 80
0 0 10,600
100| 54 [150| 5 |175 -400 | 200 | 170 | 20 | 175 | 14 | 20 | 13 | 30 | 30 [1,440|3,550 9900 100

-18 -



LMF...L
LMK...

MROBE (AHIRE)

L Flanged Long Type Series(Metric Dimension)

LMF...L LMK...L
,ﬂ% # §E  Model No.
_— LMF...L LMK...L
mm
6 LMF 6L LMF 6LUU LMK 6L LMK 6LUU
8 LMF 8L LMF 8 LUU LMK 8L LMK 8LUU
10 LMF 1oL LMF 10 LUU LMK 10L LMK 10LUU
12 LMF  12L LMF 12 LUU LMK  12L LMK 12LUU
13 LMF  13L LMF 13 LUU LMK  13L LMK 13LUU
16 | LMF 16L LMF 16 LUU LMK  16L LMK 16LUU
20 | LMF 20L LMF 20 LUU LMK 20L LMK 20LUU
25 | LMF 25L LMF 25 LUU LMK  25L LMK 25LUU
30 LMF  30L LMF 30 LUU LMK  30L LMK 30LUU
35 | LMF 35L LMF 35 LUU LMK  35L LMK 35LUU
40 LMF 4oL LMF 40 LUU LMK  40L LMK 40LUU
| 50 LMF  50L LMF 50 LUU LMK  50L LMK 50LUU
60 LMF  60L LMF 60 LUU LMK  60L LMK 60LUU

49 -



LMF...L

4-5E/3,

4-Mounting hole

FTER Y & E Maindimensions and tolerance . EAERESE
dr D L [y & Flange il 2RE Baic bed titiy Eli Eﬁ
R D= A% pf| K|t | Dp| X|VY|2Z st il T Flocr
mm TTL":““ mm T"ﬁ“m"" mm || mm | mm | mm | mm | mm | mm | mm | AT | EM 0 o 9§ mm
6 12 35 28 | 22| 5 |20 | 35| 6 | 3.1 33 | 54 gg 6
0 0 .
51
; 3.1 44 | 80
8| 15| . |45| .,[32|25| 5 24|35 6 ul 8
10| o |19 55 4|30 | 6 |29|45/75]41| | |60 112 %110
12 | -10 | 24 57 42 |32 | 6 |32 |45 |75 | 41 67 | 122 1;3 12
0
13 23| |61 43 | 34 | 6 | 33 |45 75| 41 83 | 160 ]gg 13
; 5 L
16 28 70 48 |37 | 6 | 38 | 45|75/ 41 125 | 240 | 191 46
-300 Ml 165
20 32 80 54 | 42| 8 | 43 55| 9 | 5.1 143 | 280 gg 20
0 0
25 40 112 62 |50 | 8 | 51 55| 9 | 51| 20|20 |150|320| %0} 25
22 19 500
30 45 123 74 | 58 | 10 | 60 | 6.6 | 11 | 6.1 254 | 560 ggg 30
35 52 135 82 | 64|10 | 67 | 66| 11 | 6.1 270 | 640 ngg 35
U 0 0 I | SppR—— ... o 0 SN—
40 60 151 9 | 75 | 13 | 78 | 9 | 14 |81 | 25 | 25 | 350 | 820 |10 | 40
15 22 || 400 | 1380
50 80 192 116 92 | 13 | 98 | 9 | 14 | 8.1 620 |1,620 gfgg 50
0 0 4500
60 | 9 90| 9 |209 134|106 | 18 | 112| 11 | 17 |11.1| 30 | 30 | 770 2,040 ;2% | 60

-20 -



LMH tmpogs asins)

Two Side Cut Flange Type (Metric Dimension)

LMH 30UU

#hE HU5% Model No. £ 2 R ¥ & # E Main dimensions and tolerance
N:m;al dr D L
g LMH....uU R | SOSTER | oy | TOICRIN . i Toene:
6 | LMHG6UU 6 12 0 19 ]
8 LMH 8UU 8 15 -9 24
—{  -200
10 | LMH 10uU 10 0 19 29
| 12 LMH 12UU 12 8 21 g 30
13 LMH 13UU 13 23 -13 32 0
16___ | LMH 16UU 16 28 37 -200
20 LMH 20UU 20 " 32 " 42
25 40
25 | LMH 250U e s 59 0
30 30 45 64 -300

B



BEL(X2)
Fixing hole(x 2

BEE3(K4)
Fixing hole( X4}

& -ﬁ- S <
[ |
L
S
LMH 13 (/) LMH 16L S{ER K
LMH 13 or less LMH 16L or more
X R ¥ B % E Main dimensions and tolerance B EmE %zsfjfgﬁ =g | BE
O#& Flange Einedd — 8 | == | Nominal
Df | W t A F X Y z #eig serekg Weight | shaft
uwm am dynamic | static
mm mm mm mm mm mm mm mm C(kgf) | Cofkgf)| 9 mm
28 18 5 20 = 35 6 3.1 21 27 21 6
32 21 5 24 — | 35 6 3.1 f 28 | 40 | 33 ] 8
40 25 6 29 — 4.5 7.5 41 1| 38 56 64 10
12 12
42 27 6 32 — 45 7.5 4.1 52 80 68 | 12
43 29 6 33 — 45 7.5 4.1 52 | 80 | 81 13
| 48 34 6 31 22 45 7.5 4.1 79 | 120 | 112 | 16
54 38 8 36 24 55 9 51 90 | 140 167 | 20
62 46 8 40 32 5.5 5.1 15 15 100 | 160 325 25
74 51 10 49 35 6.6 11 6.1 160 | 279 | 388 30

55




LM H...L @fnKROSE (AR

Two Side Cut Flange Double Type (Metric Dimension)

21 P AUSE Model No. F E R ¥ B ¥ E Main dimensions and tolerance
"ml dr D L
G,;,m,:," LMH....LUU mm | TORFES | oy [ Toleranoa <y %
6 LMH 6LUU 6 12 0 35 :
8 LMH 8LUU 8 15 13| 45 e
10 LMH 10LUU 1_0 | 0 19 55
12 _LMH 12LUU 12 -10 21 0 57
13 |  LmH 13LUU 13 23 16 61 0
16 |  LmH 16LUU 16 28 70 300
20 LMH 20LUU 20_ E " 32 . 80
25 LMH_ 25LUU 25 o 40 . 112 0
30 LMH 30LUU 30 45 123 -400

Ky




-\\-—\_

o

EEIL(X2)
Fixing hole(x2)

w

LMH 13L S8/
LMH 13L or less

EEIL(X4)
Fixing hole(x4)

LMH 16L S8R K
LMH 16L or more

T E K 7 B ¥ E Main dimensions and tolerance B EmEg |BAEREE b
% Flange " e | Deodig ER Nori
Df w t A F X Y z o i ﬂ%ﬁ ;smgnirg Weight o~
mm | mm | mm | mm | mm | mm | mm | mm Clkgf) | Cotkghi| 9 | mm
28 18 5 20 — 35 6 3.1 33 | 54 | 28 6
32 21 5 24 - 3.5 6 3.1 44 80 | 47 8
40 25 6 29 e 45 7h 4.1 60 | 112 90 § 10
15 15
42 27 6 32 e 4.5 7.5 41 83 | 160 | 1021 12
43 29 6 33 — 4.5 7.5 41 83 | 160 | 123 | 13
48 34 6 31 22 | 45 7.5 4.1 125 | 240 | 182 | 16
54 38 8 36 24 55 9 5.1 143 | 2719 | 2471 20
62 46 8 40 32 5.5 9 5.1 20 20 159 | 320 | 525 | 25
74 51 10 49 35 6.6 1 | 6.1 254 | 560 | 645 30

-24 -




LMFP-L 5|&3\ B2/ ZR/EX B iR R £ 1Y

PILOT END ROUND FLANGE LINEAR BEARING LONG TYPE

311 6

i

' 98 10

2 [110] 12 001

130 13

260, 20

LMFP-LUU

) |540| 25

0 |
0012

680, 30

- 1020 35

1570 40

6 3600 50

4500 60

=35



LMKP-L S5 ERX A2 ARSIk B iRl RE

PILOT END SQUARE FLANGE LINEAR BEARING LONG TYPE

o |35]

::::

SIERTS
| 55 |

21,10

-0.016

145

3345

4.5

7541
|754

0| 26 0012 A0 |0014112|

80

6 |
8 54 4;

4355

45 123

5?1 |‘§35

60 5022151
80 192

J,: 209

62 "5@"

951

8 5155 9 5.1 002 002159 320

1074 58 10 60 6.6 11 61

7541 1112]
?5,41‘0015'0015

1082 6410

6766

1"

13 96 75 13

78 9

14

‘13'116@2 13

98 9

14 &,

[18134/106 18

112 11

17.510.8

LMKP-LUU

0.025 ‘0.0257.

- 26 -



LMFC-L NI\ EF AR R EFHFEINER

CENTERED ROUND FLANGE LINEAR BEARING LONG TYPE

e

280

R

1e9

| 0.02 002

- 0.025 (0.025

90 §p- 209 955134 18 112 11 17 11.1.0030/00307

S



WSS AR R IR E R AN R E

LMKC-L ©

CENTERED SQUARE FLANGE LINEAR BEARING LONG TYPE

LMKC-LUU - -

135 62582(64]10/676.6/11/6.1
151 94069 96 75 13 78 9 1
2 0511692/13 98/ 9 1

350 82

0
620 1

0,080 0.030 770 2040

055134106/ 18 112 11 17 11

- 28 -



KH ss»

Compact Type

BB (unit) - mm

BT H ¥ No Seal 8 ¥ B Sealed type FTEBR EXERTE
Nominal = g : Basic load rating
M RgE g8 RS 58 Main dimensions TR | B |
dameter | Weight | o IN Weight 1 Bl | B
mm odel No. g odel No. g d D B Clicg) Colkgf) |
6 KH0622 7 KH0622PP 7 6 12 22 9 24

8 KH0824 12 KHO0824PP | 12 8 15 24 11 28
10 KH1026 14 KH1026PP 14.5 10 17 26 14 37
12 KH1228 18 KH1228PP 18.5 12 19 28 18 51
14 KH1428 20.5 KH1428PP 21 14 21 28 | 19 52
16 KH1630 27 KH1630PP 27.5 16 24 30 24 62
20 KH2030 32,5 KH2030PP 33 20 | 28 30 28 79
25 KH2540 61.5 KH2540PP 63 25 | 35 40 65 167
30 KH3050 90 | KH3050PP = 92 30 40 50 100 270
40 KH4060 182 KH4060PP 184 40 52 60 170 445
50 KH5070 250 KH5070PP 255 50 62 70 235 630

20 -



#hiERk BRERMER

#rE -
S

&E(TM, TMP)

BME TMP

AT D UURAVFOBI AV BAR AR BRI « BRI H AN o

BEe MR EE R R MRER IR R T4 - BRRTha Ty o
7oy TRk
St g : : : 'e BAAT PVE & B RAURBREE

MR POMEL gAFS): ¢B(h7); #C ¢ D E LW N ¢ O ionhommse (o) [ (h7) | (KiB)
TM6  TMP6: 6.0 120 115: 135: 1.15: 19.0: — — 80: 41 438 ¢6: 2
TM8 TMP8:! 80 150 143 175 115 24.0i — — 130 6.9 825 ¢8 2
TM10 (TMP10: 10.0: 19.00 18.0! 220: 135 29.0 — : — 2000 104 16160 ¢ 10 2
TM12 (TMP12: 12.0. 210/ 20.0: 23.0. 135 30.0. 8.0 : 80° 250! 129! 19.02! ¢12! 2
TM13 (TMP13: 130: 230 229: 23.0: 135 320 9.0 : 80° 290 149 2460: ¢13: 2
TM16 TMP16; 16.0. 28.00 26.6: 26.5. 165 37.0. 11.0 : 80° 410; 212 4171 ¢ 16 2
TM20 i TMP20: 20.0: 320! 30.3: 305 165 42.0: 11.0 | 60° 580: 30.1: 5595: @20 2
TM25 [ TMP25: 250 40.0 38.0. 410: 19 59.0. 12.0 . 50° 1000 52.8:122.80' @25 2
TM30 :TMP30: 30.0] 450! 425! 445! 19! 64.0; 15.0 : 50° 1300: 68.7:153.70! 30 2
TM35 TMP35: 350 52.0. 490 495. 22 70.0. 17.0  50° 1700 B87.7:22100. ¢35 2
TM38 :TMPas: 38.0: 57.0: 550: 58,5 22: 76.00 18.0 : 50° : 2000: 103:29290: ¢38 2
TM40 (TMP40: 40.0: 60.0: 57.0. 60.5: 22 80.0 200 : 50° : 2200: 115:34160: ¢40: 2
TM50 :TMP50: 50.0. 800 765 74.0. 2.7 100.0. 250 : 50° @ 3500 179.832.70] ¢50. 2
TM6B0 (TMP60: 60.0; 90.0; 865 850 3.15: 110.0: 30.0 : 50° : 4600: 236: 1057 #60: 2
TM80 :TMP80: 80.0: 120.0: 116.0i 105.5! 4.15. 140.0: 40.0 | 50° : 7800: 400: 2391 #80: 2
TM100:TMP100: 100.0! 150.0: 145.0! 1255: 4.15: 175.0: 50.0 : 50° : 12000: 627: 4670: ¢ 100: 2
TM120:TMP120 | 120.0° 180.0; 175.0: 158.6. 4.15: 200.0; 85.0 : 80° : 16000: 859: 7686 ¢ 120 2
TM150 : TMP150 : 240.0° 204.0; 170.6: 15: 240.0: 1 i 80° 25000 : i $150; 2

FEEEREA -
@ARRARE « STMMIBEE + BIRMHME + S MK + 1IFHRAECT -
O REFERE  TIOKI b ERERASE -
@515 - IBER - BREmRE -

-30 -




HIEEER BRI

-31-

K e
H
"o
— |_. %
] [
B —— A $B
g5 —
/—ﬁ EFxg F 3G
BE(TMF, TMK)
MR B BN EFRER
mz [Ha [ oA [ 9B [ T T T T RSEERARE] PV [RAMA E B
A& | ER | (F8) | (h7) misec | (kgf) |kgtmisec| (h7) rf
TMF6 6 12 20 28 35 |6 3.1 8 19 2 80 4.1 ¢ 6 15.31
TMF8 8 15 24 32 35 |6 3.1 8 24 2 130 6.91 ¢ 8 21.90
TMF10| — 10 19 29 40 45 |75 (41 9 29 - 2 200 10.4 ¢ 10 [39.96
TMF12 [ TMK12 |12 21 32 |42 [45 |75 |41 [9 30 |32 |2 250 [129 |¢12 [35.60
TMF13 | TMK13 |13 23 |33 [43 |45 |75 |41 |9 32 = 2 290 [149 |13 (4996
TMF16 | TMK 16 | 16 28 38 48 45 |75 |4.1 9 37 37 2 410 21.2 ¢ 16 [60.14
TMF20 | TMK20|20 32 43 54 55 |9 5.1 11 42 42 2 580 30.1 $20 |84.64
TMF25|TMK25/25 |40 |51 [62 |55 |9 51 [11_[59 |50 |2 1000 |52.8 |#25 [159.97
TMF30 | TMK30|30 45 60 74 6.6 |11 6.1 14 64 58 2 1300 |68.7 $ 30 [221.19
TMF35 | TMK35|35 52 67 82 66 |11 6.1 14 70 64 2 1700 |87.7 ¢35 [296.05
TMF40 | TMK40, 40 60 Z8 26 9 14 81 18 180 - 75 2 2200|115 40 [478.47




LMA zgpsimx

Standard Type Linear Block
(Linear Ball Bearing Type)

== v " 4-81 b
K B+0.2 i C=0.2
- i x/"","_'.ﬁ']t'__“‘-\‘ ] S %I T ik
o U o I N SN 7 S N~ 5 == 50
® Hi 5 }\l\\ il b " it o |
NS LA | i
v 1511 \“_-_/_?) © =l it R
R \ |
\\ i
E=0.02 \ 4052
i H
gl_J. ﬁ %]‘-; 35 % R —Sj- é% EE. R TJ' _ﬁl_._i‘ggfball biaringi;t ii
Nemea Main dimensions Mounting dimensions | & g %é}‘%g %%g Weight
diameter
ModelNo- Jmm h |E (WL F|G|T B c|K|si|s2|0 Modelo “cign  cogn g
LMAGUU | 6| 9 15|30 (25|18 15|6 |20(15| 5 | M4 134 8 |LM BUU 21 27 34
LMASUU § 8 | 11|17 |34 | 30| 22| 18 i 6 (24|18 | 5 | M4 3.4! 8 LM8UU 28 40 52
LMATOUU § 10| 13| 20 |40 [ 35|26 | 21| 8 128 121 | 6 | M5 43 12 'LM10UU: 38 56 | 92
LMA12UU | 12| 15|21 42 | 36 | 28 | 24 | 8 [30.5/ 26 |5.75| M5 | 4.3 | 12 iLM12UU 52 80 102
LMA13UUY 13| 15|22 |44 | 39 | 30245 8 |33 |26 |55|M5|43 12 LM13UU| 52 | 80 120
LMA16 UUJ 16| 19 | 25 | 50 | 44 |38.5/32.5| 9 | 36 | 34 | 7 | M5 |43 |12 |[LM16UU| 79 120 200
LMA20UUJ| 20| 21| 27 |54 |50 (41 /35 11 |40 40| 7 | M6 |52 12 LM20UU| 90 140 255
LMA25UUJ 25| 26 | 38 | 76 | 67 |51.5( 42 |12 | 54 |50 | 11 | M8 | 7 | 18 |LM25UU| 100 160 600
LMA30UU] 30/ 30 | 39 | 78 | 72 |59.5/ 49 15 |58 |58 | 10 | M8 | 7 | 18 LM30UU| 160 280 735
LMA35UU| 35|34 | 45 90 |80 |68 |54 18 |70 |60 | 10 | M8 | 7 | 18 LM35UU 170 320 1,100
LMA40 UUJ 40| 40 | 51 [102|/ 90 | 78 | 62 |20 | 80 60 11 'M10 8.7 |25 .LM40UU 220 410 1,590
LMA50 UU] 50| 52 | 61 |[122|{110|/102| 80 | 25 [100| 80 | 11 [M10|8.7 | 25 ILM5OUU 390 810 3,340
LMAG60 UU 60: 58 | 66 |132|122|114| 94 | 30 {10890 | 12 |M12 10.7 25 |[LM60UU| 482 1,020 4270

-32 -




LMA...L ne2epsrus

Long Type Linear Block
(Linear Ball Bearing Type)

. W N, L
K__ B*02 T C:02 1
_*S.t*- [H —_ﬁ; A-MT6x1 i
1§ - S
o e 4-0S2 -
E+0.02
&I (unit) : mm
mwlh * ® R ¢ |#8 B R ¥ | |liucene Ign
Vomina Main dimensions Mounting dimensions | & 3% |Z 202 (B0 Weight
Model No. Jyrml h [E W] L] F[Ge [T N|B]c|K[si[s2] 0| MotelNo | T | cotken |
LMAGLUU] 6 | 9 |15(30 /48| 18|15 | 6 | 7 |20 (36| 5 (M4 |3.4| 8 |[LMBUX2 | 33 54 | 63
LMABLUU| 8 | 11|17 |34 (58|22|18| 6 | 7 |24 | 42| 5 |M4 |3.4| 8 |LM8UX2 | 44 80 | 102
LMA10LUUJ 10| 13|20 |40 (68| 26|21 | 8 | 7 |28 |46 | 6 |M5 (4.3 12 |LM10UX2| 60 112 | 180
LMA12LUUY 12| 15| 21 |42 | 70 | 28 |24 | 8 |6.5305| 50 |5.75| M5 |4.3 | 12 |[LM12UX2| 67 120 | 205
LMA13LUU| 13| 15| 22| 44 | 75|30 |245| 8 | 6.5/ 33 | 50 |5.5| M5 (4.3 12 [LM13UX2| 83 160 | 240
LMAT6LUU| 16 | 19| 25 | 50 | 85 |385(325| 9 | 6 |36/ 60| 7 | M5 |43 | 12 [ LM16UX2] 125 | 240 |400
LMA20LUUJ 20 | 21|27 |54 |96 |41 35| 11| 7 |40 |70 | 7 |M6 |5.2| 12 [LM20UX2| 144 | 280 |570
LMA25LUU 25 | 26 | 38 | 76 |130/515/ 42 | 12| 4 | 54 (100 11 |m8 | 7 | 18 [Lm2suxz| 164 | 320 1200
LMA30LUUJ 30 | 30| 39 | 78 | 140|595/ 49 | 15| 5 | 58 [110/ 10 | M8 | 7 | 18 |LM30UX2| 250 560 | 1,480
LMA35LUUJ 35 | 34 | 45 | 90 (155| 68 | 54 | 18| 5.5| 70 [120/ 10 (M8 | 7 | 18 |LM35UX2| 270 | 640 |2.200
LMA40LUU| 40 | 40| 51 |102(175| 78 |62 | 20| 5 | 80 |140| 11 |[M10|8.7 | 25 |LM4OUX2| 350 | 820 |3.200
LMASOLUUJ 50 | 52| 61 [122|215|102| 80 | 25| 5 (100{160| 11 |M10|8.7 | 25 |LM50UX2| 620 1,6'20 6,700
LMAGOLUU] 60 | 58 | 66 [132/240/114/ 94 | 30 | 5 |108|180| 12 |M12|10.7] 25 |Lmeoux2| 770 | 2,040 |8560

=88



LMS spasstux

Standard Type Oilless Linear Block
(Oilless Bearing Type)

K. Bx?Z e
/|

A= NITRE i 36

JHE A ;i

S = i i 1o AN et

L \ate7 L T

{E:g,oz___ \ 4-02

pe|ll = B R Y| # B R T |GENR hg| es mm
Nomina Main dimensions Mounting dimensions it ﬁ Max Static| gpgocel 402 | Weight
ModelNo. It  TE TWw | LI F |G| T |B|C|K|Si|S:| 0 | M| (kgf) | mmn min| g
LMS6 | 6|9 |15/30 25 18|15 6 |20|15| 5 |m4|34 8 | OB | 120 30
imss | 8| 1117 ]34 30|22/ 18| 6 |24|18| 5 |ma|34] 8 | 0B8 | 200 45
LMs10 | 10| 13| 20 |40 |35 | 26 |21 | 8 |28 |21 | 6 |M5|43 12| OB10 30 | &
LMs12 |12 15| 21 (42 |36 | 28 | 24 | 8 [305 26 [5.75| M5 4.3 | 12 | 0OB12 | 370 %
LMS13 | 13 15| 22 (44 | 30| 30 245 8 |33 |26 |55/ M5 43|12 0B13 | 430 102
LMS16 | 16| 19| 25 |50 | 44 (385325 9 |36 |34 | 7 |M5|43|12 | oB16 | 620 170
LMS20 | 20| 21|27 |54 |50 | 41|35 |11 |40 |40 | 7 | M6 [52] 12| oB20 | 880 | 40| 120 220
LMS25 | 25| 26 | 38 |76 | 67 51542 12 |54 |50 | 11 M8 | 7 |18 | OB25 | 1,500 500
LMs30 | 30| 30| 39 | 78 | 72 |50.5 49 |15 |58 |58 |10 |Ms | 7 | 18| 0B 30 |2,000 | 645
LMS35 | 35 34 | 45 |90 |80 |68 | 54|18 |70 |60 |10 | M8| 7 |18 | 0B35 |2,500 90
LMS40 | 40| 40 | 51 [102] 90| 78 | 62 |20 | 80 |60 | 11 |M10|87 | 25 | oB40 |3,300 1,355
Lms50 | 50| 52| 61 [122]110|102| 80 | 25 [100| 80 | 11 |M10|8.7 | 25 | OB 5O |5,:200 2610
LMs60 | 60| 58 | 66 [132/122/114] 94 | 30 [108] 90 | 12 Mi2[10.7| 25 | OB 60 |6,900 3510

ERRESEE : -100~250°C
WEINAZE - 7 (— AR g6 (RIVRER)
Temperature range:-100~250°C
Recommended fit of the shaft tolerance:f7(Ordinary clearnace)

g6(Tight clearnace)

34 -



LMS...L ng2essssnun

Long Type Oilless Linear Block

(Oilless Bearing Type)
W N - L . .
JfK B+0.2 J/ BB e
g~ *-__[ii s A-MT6x1 [ I [
o & Van\t: i o i
[ : ll\l\\xd. —}}. i | (‘“JI:’ L
L\ L i
e Yow \ 4-0S2
E+0.02
BE{ij(unit) : mm
. A i®
pg|B T B R ¥ |% B R Y | awmws 5| 5528 |gs
- = [ l =] c .
H Main dimensions Mounting dimensions oui .,:E; Max Static| geovnl s 3t | Weight
ModelNo. Jiml h [E[W[ L[ F[G [T|N|B|C|K[Si|s2| 0 "™ (kgf) | 20| miil g
LMS6L | 6 | 9 [15/30(/48|18/15| 6 | 7 [20|36| 5 (M4 (34| 8 | OB6X2 | 240 63
LMSS8L | 8 (111734 /582218 | 6 | 7 |24 42| 5 M4 |3.4| 8  OB8X2 | 400 102
LMS10L | 10| 1320|4068 26|21 | 8 | 7 |28 |46| 6 |M5(4.3| 12| OB10X2 | 600 180
LMS12L| 12| 15|21 42|70 | 28|24 | 8 |6.5/305| 50 [5.75| M5 |4.3 | 12 | OB12X2 | 740 205
LMS13L | 13| 15|/ 22|44 | 75 301|245 8 6.5 33|50|5.5|M5|4.3| 12 OB13X2 | 860 240
LMS16L | 16| 19| 25 50| 85(385325| 9 | 6 (36 |60 7 | M5 [4.3| 12| OB16X2 | 1,240 400
LMS20L | 20| 21|27 | 54|96 | 41|35 |11 | 7 |40 70| 7 |M6|5.2| 12 | OB20X2 (1,760 | 40 | 120 570
LMS25L | 25| 26| 38 | 76 |130|51.5/42 | 12| 4 |54 {100/ 11 |M8 | 7 | 18 | OB25X2 |3,000 1,200
LMS30L | 30| 30| 39| 78 140|595/ 49 | 15| 5 |58 |110 10 M8 | 7 | 18 OB30X2 4,000 1,480
LMS35L | 35| 34 | 45| 90 |155| 68 |54 | 18 | 5.5/ 70 [120| 10 (M8 | 7 | 18 | OB35X2 |5,000 | 2,200
LMS40L | 40 | 40| 51 (102|175 78 |62 | 20 | 5 | 80 [140| 11 |[M10|8.7 | 25 | OB40X2 |6,600 3,200
LMS50L | 50 | 52 | 61 [122/215/102/ 80 | 25| 5 |100|160| 11 [M10 8.7 | 25 | OB50X2 {10,400 6,700
LMS60L | 60 | 58 66 |132|240(114|94 | 30| 5 [108/180 12 |M12{10.7 25i 0B60X2 13,800 8,560
ERBRESEE - -100~250°C
HWENWIMNRE : 7 (—RRRAE) g6 (BHIREE)

Temperature range:-100~250°C
Recommended fit of the shaft tolerance:f7(Ordinary clearnace)
g6(Tight clearnace)

35 .



SH...A sETE

Shaft Supporter

M : §25%F  Material : Aluminum alloy

_E*0.05

EE{i(unit) : mm

m g N‘%ﬂ, & R Y Maindimensions c|§ § Ei;l;t

Model No. a::& I h = W L E G b B s atn)no?tlng Mo:on:lmg &
SHS8A | 8 20 21 42 14 | 32.8 6 18 32 | 55 | M4 | M5 | 24
SH10A | 10 | 20 21 42 14 | 328 6 18 32 | 55 | M4 | M5 | 24
SH12A| 12 | 23 21 42 14 | 375 | 6 20 32 | 55 M4 | M5 | 30
SH13A|] 13 | 23 21 42 14 | 375 | 6 20 32 | 65 M4 | M5 | 30
SH16A | 16 | 27 24 | 48 16 44 8 25 38 | 55 | M4 | M5 | 40
SH20A | 20 | 31 30 60 20 51 10 30 45 | 66 | M5 | M6 | 70
SH25A ] 25 | 35 35 70 24 60 12 38 56 | 66 | M6 | me | 130
SH30A | 30 | 42 42 84 28 70 12 44 64 9 M6 | M8 | 180
SH35A] 35 50 49 98 32 82 15 50 74 1 M8 | M10 | 270
SH40A | 40 | 60 57 | 114 | 36 96 15 60 90 11 M8 | M10 | 420
SH50A | 50 | 70 63 | 126 | 40 | 120 | 18 74 | 100 | 14 | w12 | m12 | 750
SH60A | 60 | 80 74 | 148 | 45 | 136 | 18 9 | 120 | 14 | M12 | M12 |1,100

B




SHF maze

Flanged Shaft Supporter
M5 - 8855%  Material : Aluminum alloy

BE{iI(unit) : mm

EE

i

e ,,‘Em , * < Main dimensions CF?*% ﬁjﬁ E@%
e w L T F | 6 B s | e o
SHF10 | 10 43 10 5 24 20 32 5.5 M5 M4 13
SHF12 | 12 47 13 7 28 25 36 5.5 M5 M4 20
SHF13 | 13 47 13 T_F 28 25 36 5.5 M5 M4 _20
SHF16 16 | 50 16 8 31 28 40 55 M5 M4 .7
SHF20 | 20 60 20 8 37 34 48 7 M6 M5 40
SHF25 | 25 70 25 10 42 40 56 7 M6 M5 60
SHF30 | 30 80 30 12 50 46 64 9 M8 M6 110
SHF35 | 35 92 35 14 58 50 72 12 M10 M8 380
SHF40 | 40 | 102 40 16 67 56 80 12 M10 M10 510
SHF50 | 50 | 122 50 19 83 70 96 14 M12 M12 | 890
SHF60 | 60 | 140 60 23 95 82 112 14 M12 M12 | 1,500

-3 -




SF un

Shaft
# B ¢ #EER(SUI2) Material : SUJ2(high carbon chromium steel)
FRIETIR - BERRRIER R Treatment : Heat treatment ground and polished
b E : HRC 62+2 Hardness : HRC 62+ 2
G
158 /7~
I |
_ o | _ ]
il |
L |
!

N RISk Dam EAE | SABERE SRS  EE NE
Diameter Model No. wm Max Length M"::mdm Weight Diameter
mm SF g6 L mm mm kg/m mm

3 SF 3 400 o006 | 3
4 SF 4 4 400 0.10 4
| 5 | SF 5 -12 2000 o016 | 5
6 SF 6 | 3000 1580 F 0.23 6
8 SF 8 -5 , 3000 1.5 and above 040 § 8 |
10 SF 10 -14 { 4000 062 10 |
12 SF 12 = . 6000 089 | 12
13 SF 13 s 6000 105 | 13
16 ~ SF16 6000 o 158 | 16 |
20 SF 20 | = 6000 ) 5 égiive 247 | 20
25 ) SF 25 P 6000 ' 385 | 25 |
| 30 | SF30 6000 2.5 F 5.55 30
35 SF 35 9 6000 2.5 and above - 7.55 35
| 40 | - SF40 6000 9.87 40 |
50 SF 50 = 6000 . 15.41 50
60 SF 60 10 6000 SO 0000 | 60 |
80 SF 80 -29 6000 ddandabove ™ 2o 4s 80
100 SF 100 33 6000 61.66 100

-38 -



SCF Rugumi

Anticorrosive Shaft

: Bl (SUJ2)
| SERREE  HERK

Material : SUJ2(high carbon chromium steel)
Treatment : Heat treatment ground, chromium

EETELE plated and polished
iE fE : HRC 62+2 Hardness : HRC 62+2
G
1.58
[ |
— -
l
L - S
S RIgE AERZ BAREEE | FUEERE, = | ne
Diameter Model No. Diamete;;.? insance Max Length D:a":"dm“;;":‘“ Weight | Diameter
mm SCF g6 L mm mm kg/m mm
3 SCF 3 400 006 | 3 |
4 SCF 4 4 400 0.0 4
5 SCF 5 -12 2000 0.16 5
6 SCF6 3000 155 | 023 6
8 SCF 8 -5 3000 1.5 and above 0.40 8
10 SCF 10 -14 4000 0.62 10
[ 12 SCF 12 & 6000 o8y | 12 |
13 SCF 13 6000 1.05 13
16 SCF 16 17 6000 ' 1.58 16 |
208 e =
20 SCF 20 - 6000 20und abovel 24 20
25 SCF 25 5 6000 - 3.85 25
30 SCF 30 6000 250 F 5.55 30
35 SCF 35 o 6000 25andabove, 755 | 35
40 SCF 40 6000 9.87 40
50 SCF 50 8 6000 it 1541 | 50
60 SCF 60 10 6000 " ;agd“: bove 2220 | 60
80 SCF 80 -29 6000 ' 39.46 80
100 SCF 100 33 6000 61.66 100

-39.-



SCNT =xzgznmb

Anticorrosive Hollow Shaft

4 B #hEE(suI2) Material : SUJ2(high carbon chromium steel)
EEST : SEEAEE . TERE Treatment : Heat treatment ground, chromium
EETELE plated and polished
iE B : HRC 62+2 Hardness : HRC 62+2
G
1.58
[ Sy e i g et B, et e S L e et SR e S e S e T iy e S e Rt ] I—
- - f 8 g - 1+ B 9
e R ‘9) ( _______________ 1 —
L \
|
AE | NEe® | ST RE ErErs| =8 | M E [ AEes |
Outer Diameter | Inner Diameter{Ref) e Diameter tolerance i;’:ﬁﬁ{'}s%f Depth of effective WE. h Outer Diameter | Inner Diameter(Ref)
d2 d1 Model Np. um ax Lengt herdansd lays eight d2 d1
mm mm SCNT g6 L mm mm kg/m mm mm
10 4 SCNT 10 -5~-14 1000 1.2 0.52 10 4
12 5 S_CNT 12 -6~-17 2000 1.3_______ __QEQ_ 12 5
1% 6 SCNT 13 -6~-17 2000 13 0.82 13 6 |
16 8 SCNT 16 -6~-17 4000 1.6 1.28 16 8
20 10 SCNT 20 -7~-20 4000 1.8 1.25 20 10
25 15 | SCNT25 -7~-20 4000 2.0 2.35 25 15
30 16 SCNT 30 -7~-20 4009__ 24 3.50 30 16
35 19 SCNT 35 ~9=-25 4000 2.5 490 35 19
40 20 SCNT 40 -9~-25 4000 2.6 4.99_ [P 40 20
50 26 SCNT 50 -9~-25 4000___ 29 9.91 50 26
60 32 SCNT 60 -10~-29 4000 3.0 14.2 60 32

- 4D -



CRS xxgm) i)

Anticorrosive

Lol B : Hhfkdl(S45C)

FEIRTIIN - FRERTEER

Material : S45C

Treatment : Ground, chromium plated and polished

&
1 SE '
e e = o
Sz RS L | mxmrmE g IHE
Diameter Model No. wm Max. Length Weight Diameter
mm CRS f7 L mm kg/m mm
8 | CRS 8 3 3000 0.40 8
10 ~ CRS 10 .8 3000 062 10
T CRS 12 - 3000 089 12
15 CRS 15 16 3000 | 1.39 15
16 | CRS 16 -34 3000 | 158 16
18 CRS 18 " 3000 | 200 18
20 CRS 20 n 7 4000 | 247 | 20
25 CRS 25 L = 4000 3.85 25 |
= CRS 30 4000 5.55 30
35 ~ CRS 35 i 7 4000 | 755 | 35
40 ~ CRS 40 -25 4000 | 987 40
a5 CRS 45 50 4000 | 1249 | s
50 "CRS 50 B 4000 1541 | 50
55 CRS 55 4000 18.65 55
60 CRS 60 4000 2220 60
65 'CRS 65 230 4000 | 2605 65
70 CRS 70 -60 4000 30.21 70
75 CRS 75 4000 | 3468 75
80 CRS 80 ! | 4000 | 3946 80
90 CRS 90 1 4000 49.94 90
100 CRS 100 T 4000 61.66 100
120 CRS 120 e 4000 88.78 120

- 41 -



LMC-C

LMCL-C

BILTVRI (RER)

Anticorrosive Linear Guide

BIR : BRI

Linear Block : Linear ball bearing

- w
"_BtO,Z 4-S
T b etk —
= HE 1] =
1' oo ¥
- P . gl
o o _D:l L v '_: 1 _
| P1 '-‘ s . S2 i JI L P Sz
V_\"_1*0,2 W2 | Vl‘li(_)2 | Wz |
LMC-C LMCL-C
LMC-C16 ~ LMC-C40 (DDEEY/Long Type}
LMCL-C16 ~ LMCL-C30
i ozl = ) 5j =1 1% R 0
@ % ﬁl% n|men$ns of —|blv Pimensions ofblock
ModelNo- Yaiameter | h | wi | w /|| B | Cc |t 0 | s | T N
-C1 45 30 —
LC-S10 16 45 25 25 45 32 |\ ——— B 12 M5 | 33
LMCL-C16 85 60 8
LMC-C20 50 35 —
20 50 27 1.5 48 35 11 12 M6 | 39 -
LMCL-C20 96 70 8
LMC-C25 65 40 , —
e 95 60 33 25 60 40 ——1 14 12 M6 | 47
LMCL-C25 130 100 | ; ' 8
LMC-C30 70 50 =
30 70 37 5 70 50 1 15 18 M8 | 56
LMCL-C30 | 140 110 8
LMC-C40 40 90 48 75 90 90 65 65 : 20 20 | M10 | 72 —

Example of identifition number:

LMC-C25-B2-2400

o 6 6 0

© Model No: LMC-C, LMCL-C

g Shaft Diameter: Shaft: Hardened(HRC62 % 2)ground and chromium plated

© Number of blocks per track rail: B1:1 Block B2:2 Blocks B3: 3 Blocks, .

€ Length of track rail: (2400mm)

il



L1 ) L1
C+0.2 C=02
LMC-C ; . LMCL-C
-L f_ | L{_.,' 7 1 | *‘/
i ?——,——'——'—! H // % P B
e F e /f L a
bt : I 7 1 i
P " Grease nipple /
*Pj2 MX P P2 J
L SR
5t #5058  ERIREERR » BIFRSP/ 220 -
Note : *is to be changed by the length L.
BEfii(unit) - mm
# - R T EAHTEREE | BEAHERGE RO
Dimensions of track rail Basic dynamic load rating Basic static load rating r::w e
W2 P1 t2 P S2 L (max) C (kgf) Co (kgf) ’
79 120 LMC-C16
40 30 5 150 55 3,600
158 240 LMCL-C16
90 140 LMC-C20
45 30 5 150 5.5 4,200
180 280 LMCL-C20
100 160 LMC-C25
55 35 6 200 6.5 4,200 == P
200 320 LMCL-C25
p— 160 280 LMC-C30
60 40 7 200 6.5 , -
320 560 LMCL-C30
75 55 9 300 9 4,200 220 410 LMC-C40

LK

LMC-C25-B2-2400
o 0 © 0O

© %8 : LMC-C, LMCL-C
O W : WLIER (HRC 62+ 2) BTBIE RS

© ITBUCBRZEH - B1: 118 B2: 2@ - B3 3f@....
O BaEE : (2400mm)

-43 -




LMC mozemsrm

Open Type Linear Block
(Linear Ball Bearing Type)

4-S

EEfiZ(unit) * mm
®m oo o &

o ﬁE@ E E R g— % E R T_r Linear ball bearing E

%R Ml iAo Mounting dimension | T 3§  EIUTEREESTESE weon
Model No. Linear ball | loadrating | loadrating | g

h |  E|/W|L|F|T|ht 6 B |C | S | 0 | bearingNo. |C (kgf) |Co(kgf)

LMC16UU | 16 | 20 [22.5/ 45 | 45 |33 | 9 | 10 | 80°| 32 | 30 | M5| 12 | LM16UUOP | 79 120 [150
LMC20UU | 20 | 23 |24 | 48 |50 |39 | 11 | 10 | 60°| 35 | 35 | M6 | 12 | LM20UUOP | 90 140 [200
LMC25UU | 25 | 27 | 30 | 60 | 65 | 47 | 14 |11.5|50°| 40 | 40 | M6 | 12 | LM25UUOP | 100 160 |450
LMC30UU | 30 33 (35|70|70 (56| 15| 14 | 50°| 50 | 50 | M8 | 18 | LM30UUOP | 160 280 (630
LMC40UU | 40 | 42 | 45 |90 | 90 | 72 | 20 | 19 50°| 65 | 65 |rmo 20 LM40UUOP| 220 410 |1,330

-44 -



LMC-L sonmsnessrumz

Open Long Type Linear Block
(Linear Ball Bearing Type)

\ Grease nipple

EEfii(unit) : mm

i + ® R % E R | unewverseeng —EEI

ﬂ ﬁ Sha:: Main dimensions Mounting dimension it aﬁ %ﬁ?ﬁ?ﬁf E&i@ﬁf Yeolgnt

Model No. | Linear ball load rating | load rating | g
o w B Iwlele T h1 & | B|C | S |0 | bearngNo. |C (kgf) | Co(kgf

LMC16LUU | 16 | 20 225/ 45|85 |33 | 9 10 | 80" 32 | 60 | M5| 12 |LM16UUOPX2| 158 240 [300

LMC20LUU § 20 |23 | 24 | 48 | 96 | 39 | 11 10 60°| 35| 70 | M6 | 12 |LM20UUOPX2| 180 280 400

LMC25LUU | 25 | 27 30 | 60 |130| 47 | 14 11.5| 50°| 40 |100| M6 | 12 |LM25UUOPX2| 200 320 [900

LMC30LUU § 30 | 33 | 35 | 70 |140| 56 | 15 14 | 50° 50 {110/ M8 | 18 |LM30UUOPX2| 320 560 1,260'

| .

< B =



SA uNLEEE

Supporter For Tapped Shaft

8 BEE

Material : Aluminum alloy

E+0.02

’_—,j\

h1

S { i o
5 . S i B
N 3 S S— Y
4. = Ll o /
| ]/ 1/ L
i T agm— i .
N _S2 m'P— \ 71
-%-! N M X P N
bt W - -
BB {I(unit) - mm
F 8 R o # B R Y |EE
S aﬁ iﬂ] f Main dimensions Mounting dimensions Weigh
Model No. | Shaft
damebrl 4 E|W|L|F|T| K| J]|h B | N MxP S1|S2| g
=
SA16-600 | 16 | 25 | 20 | 40 [ 600 |17.8| 5 |11.7/185| 8 | 80" | 30 | 75 |3x150( 5.5 | M5 (600
SA16-1200] 16 | 25 | 20 | 40 1200|178 5 |11.7{185| 8 | 80°| 30 | 75 (7x150| 5.5 | M5 |1200
3X150 610
SA20-600 20 | 27 |225]| 45 s 177! 5 | 10| 19 | 8 | 50°| 30 | 75 55 | M6
$A20-1200 1200 7X150 1,220
A25-600 600 i 2x200 800
§ 25 | 33 |27.5| 55 21| 6 | 12 |215| 8 | 50°| 35 |100 —— 6.5 | M6 | ——-
SA25-1200 1200 5X200 1,760
SA30-600 600 2X200 1,100
30| 37 | 30 | 60 228| 7 | 13 126.5/10.3| 50° | 40 | 100 6.5 | M8
S$A30-1200 1200 5X200 2,200
SA40-600 600 1X300 1,950
40 | 48 |375| 75 204 9 | 17 | 38 (155| 50°| 55 | 150 ——1 9 | M8
SA40-1200 1200| 3X300 3,900
ERHI
B I
] |
: — =B :
s A
SAZISEE SASZIFEE

-46 -



SCFB sgwngumi (R

Tapped Shaft (Anticorrosive)

ME - BEE (SUJ2) SRS -

RAE R FemigiEs

I#E : HRC 62£2

Material :

SUJ2(high carbon chromium steel)
Heat treatment, ground, chromium
plated and polished

HRC 62%2

Hardness *

(4
= a _'__ 4 O
=0T
| ! z'(_f' c |
d | |
L
L P2 | Pxor | I
it x LR ERIFRENER  BIFEP/ 228 -
Note : *is to be changed by the length L.
B {ii(unit) : mm
NENE| J i gy
P BUSR um LEE | BE |BFRE RBIL RBILE e B ARE =8
Diameter t?)ilaemt:; Pitch N:cﬂ:;'::' Thread depth| Counter bore cﬁﬁ’{:&m Chamfer | Max length ‘-'fsig_h_t__
D SCFB g6 P M ] d i c(reﬂ L(max) | kg/m
16 SCFB16 6~-17| 150 | M5x0.8 9 - 55 25 ' 0.7 | 3,600 1.58
-~ . _ J el =
20 SCFB20 -7~-20, 150 M6x1 10 6.5 2.5 0.7 4200 | 247
25 | SCFB25 7~-20 200 | M6x1 12 | 65 25 | 07 | 4200 385
e - , . SR B
' .l
30 SCFB30 -7~-20{ 200 |M8x1.25 15 8.5 3.0 | 1 4,200 5.55
=3 == - . |
35 SCFB35 -9~-25| 200 |M8x1.25 15 8.5 30 | 1 4,200 7.55
40 | SCFB40 -9~-25| 300 |[M8x1.25| 18 8.5 3.0 1 4,200 | 9.87
|

Example of identifition number:

SCFB 20X1500

(1]

(2

© Type: Shait diameter

@) Overall Length

sJRE -

SCFB 20X1500
1] (2]

Q@ 2%k - s
(21

-



LGD minzgn res)

Anticorrosive Linear Guide
— (&5 158 = 4118 4 i A
One Block with 4 Rolling Bearings

w ; w
i S
o ' o @ ' @
A & L+ +) o |Olhoe F ® ++JT+) @« |Oihole
ENTH, e
T W1 W2 x Wi Wa
IL Wa !__ Wa
LGD8 / LGD8L LGD12/LGD12L
LGD16 /LGD 16L
A g T #H &8 R B 1% R B
i shaft | Dimensions of assembly Dimensions of block
Model No. diameter .
H H1 Wi w Ws | Hz D L1 B B1 C C1 | Stxdepth
. - |
LGD8 | | 0 50
8 30 4 16 60 | 59 26 9 —— 40 10 — 10 | M6x9
LGDSL | | 100 | 80
LGD12 100 38
12 40 4 23 82 80 36 12 27 14 —— 12 | M6x12
LGD12L 140 | 58
LGD16 | 150 60 | |
16 50 5 35 120 | 118 . 45 14 ——— 45 15 - 115 | M8x16
LGD16L | 190 | 80 |
| |
Example of identifition number: © Model No.

LGD12-B2-R1800C

(1) 12

(3]

@ Number of blocks per track rail:
B1:1Block B2:2Blocks B3: 3 Blocks, ...

© Length of track rail (1800mm):
Shaft:Hardened(HRC62 = 2)ground and chromium plated

-48 -



L1

1 C1 Cc
] .
QO © & © &
m
Z| m| 4-S1xdepth = ©r 8-S1xdepth &
/ @ z
& ° Hd o o
o o
LGDSL LGD12 / LGD12L
L'GDB / LGD16 / LGD16L
LGD12/LGD12L
LGD16 / LGD16L
@:: ==¥ ?L_ i
: e ]
i il H—
L
B8 {iI(unit) : mm
# 8 R I EXRTREE | BANEREE 7 ’
Dimensions of track rail g ol [l oot "_:"H":xmm";“ B O%®
Model No.
Wz | Hs | i |dz | h | P | N |Lma| C(kaf) | Colkaf) | gem | pgtm) | gt
36 |30 | 32| LGD8
28 | 20 | 55 | 95 | 52 | 50 | 25 |3,000 80 130
36 | 46 | 55 | LGDSL
54 | 40 | 48 | LGD12
36 25 66 | 126 | 6.2 50 25 |4,000 180 290
54 |72 |85] LGD12L
135198 | 2161 LGD16
50 | 32 | 9 | 20 | 9 | 80 | 40 |4,000 330 530
135|356 | 38.2] LGD16L
To Tx ry
L=\ LN LN
N z 1
2T ome P =B o] et
LGD12-B2-R1800C O 13580, LBRZEN -
o © o B1: 1/ B2: 2/ B3: 3@, ...
© BULEE (1800mm):

B : BABRIE (HRC 62+2) BTSSR S

-49 -



LGD12E mizsn res)

Anticorrosive Linear Guide
&AL Economical Type

— &5 158 = 418 i EH 5

One Block with 4 Rolling Bearings

19 ,, 20 , 20

4-M6X12depth

15
27

— ¥
o

| ey

]
e
ol
pala
o
i

21 36 ! é}

12

©12.6
26.8 | |
| e
' T i E 1 ;
g f_ — | _L I __i_ ; = f ! r__l__E
g 7 ! ! 23] | [ J iiq i
© / ‘ /{ | T T T =g 71 I
| A | | - - T r" ] |
e ! = __J ri
4000 (Max) i
aJEEH - | ErwersE | EreEReE BT 5E =8
im{g Basic dyniami: ?as‘:'c r:it‘ntic Allowable static moment Weight
Shaft {oer! rating oad rating To Tx Ty a5 s
LG D1 2E'BZ'R_1_8 og_c_ diameter C (kgf) co( kgf) [kgf-m} tkgf'ﬂ'l} . [kgf-m} BI'?;I( 'I'rak:;l;;ail
(1) (2] (3)
12 140 230 4.3 3.2 3.8 0.36 3.2
© =3 : LGD12E
O 1B B ES To i v
B1: 1@~ B2: 2/ - B3: 3@, ... L\ L7/ Var—m S\

© s romn v B bn &

B« BRERTR (HRC 62+2) | BRI

€© Model No.:LGD12E

Example of identifition number:

@ Number of blocks per track rail:

LGD1 2E'E'R1 8o0ocC B1:1 Block B2:2Blocks B3: 3 Blocks, ...
(1] (2] (3)

© Length of track rail (1800mm):
Shaft:Hardened(HRC62 £ 2)ground and chromium plated

-50 -



LGD12XL

LB (REH)

Anticorrosive Linear Guide
farEay

Heavy Load Type

— &5 158 = S &R o # A

One Block with 8 Rolling Bearings o
160 —
12 68 68
82
) . o————O——— 0
o i 1 HH
"I_ i 1k HE -
_4 N
98 o {ryrl+ o |Ollhole o O O
i -
o L
4 23 36 {t éﬁ -
L 80 =
8-M6X12depth
212.6
i‘_' 6.8 e j—
} Y S |
iy, T/ s == = = s |[FE
8w // / Ir —I / III S_:_"_—_ €_‘_"_—_:I_) I_—_"':._I e IT 1:
8 VAa——— == == <= <= [l
25 [ 50 J o
4000 (Max) SNy
imt‘: Baficmdyniamlc Basic static Allowable static moment Weight
Shaft rating Josed rating T T T iR mi
LGD 1 _2&.- B_Z-R 1 80 0_9 diameter C (kgf) Co(kgf) (kgi?m] {kgf:n] {kgzm] Block | Track ra
(1) (2] (3]
12 290 460 8.7 11.2 136 0.86 3.2
© =5 : LGD12XL
O RN B2 E - & 5 =
B1:1{8 - B2: 2@ - B3: 3@, .. Yo SN LN\ Parsh\
[ ]

© BIRE (1800mm):
B SARIE (HRC 62+02) SRR AAE

Example of identifition number:

LGD12XL-B2-R1800C
(1 2] (3

&
A
-

@ Model No.:LGD12XL

@ Number of blocks per track rail:
B1:1Block B2:2Blocks B3: 3 Blocks. ...

Q Length of track rail (1800mm):

cx — s

Shaft:Hardened(HRC62 = 2)ground and chromium plated

-51-




RXRF iR
CRW

nxF

H--- ©r 5o
= 1 _ * 2] <
{
h M
- T
. FERY
i E R R WREREERS
: 1) | 2 !
na) %gﬁ{) A ‘ H | L(nxF) I E | Dal R Z | p
kg/m g | . | |
CRW 1- 20 | L 20 ( 1x10) 165 5
CRW 1- 30 | ' | 30 ( 2x10) 255, 8
CRW 1- 40 | | . 40 ( 3x10) - 315 | 10
CRW 1- 50 012 | 038 | 85 4 | 50 ( 4x10) 5 15| 375 12| 3
CRW 1- 60 I 60 ( 5x10) 435 | 14
CRW 1- 70 | 70 ( 6x10) | 525 | 17
__ CRW 1-80 B i 80 ( 7x10) | 61520,
CRW 2- 30 | 30 ( 1x15) | 296 | 7
CRW 2- 45 ; 45 ( 2x15) 416 | 10
CRW 2- 60 | 60 ( 3x15) 536 13
CRW 2- 75 L 75 ( 4x15) 65.6 16
CRW 2- 90 ! , 90 ( 5x15) 776 | 19
CRW 2-105 024 & 098 | 12 105 ( 6x15) |75 2 ) pggg | 22| *
CRW 2-120 | 120 ( 7x15) 1016 | 25
CRW 2-135 . 135 ( 8x15) 1136 | 28
CRW 2-150 ' 150 ( 9x15) 1256 | 31
CRW 2-165 i 165 (10x15) 1376 | 34 |
| CRW 2-180 ; 180 (11x15) 1496 | 37 |
| | CcRrRw 3-50 | 50 ( 1x25) 42 8 |
CRW 3- 75 - 75 ( 2x25) , 62 12 |
CRW 3-100 | 100 ( 3x25) | 82 | 16
CRW '3-125 125 ( 4x25) ' 102 | 20 |
CRW 3-150 . 150 ( 5x25) | 122 | 24 |
CRW 3-175 050 | 29 | 18 175 ( 6x25) 125/ 3 | 1420 | 28| °
CRW 3-200 200 ( 7x25) 162 | 32
CRW 3-225 225 ( 8x25) 182 | 36
CRW 3-250 250 ( 9x25) 202 | 40
CRW 3-275 275 (10x25) ! 222 | 44
CRW 3-300 | 300 (11x25) 242 ‘ 48
N I ! t |

H(RTIERILRENER
FETHEREECERETHHM0RZER
B REREFZEE

- 52 -



R

e o,

Z(RFEHE)

CEEEEEREE)

2K E
BERE

Cu(3)
kgf

J

-53-




RXRF R
CRW

t E nxF -E ,l t
F [i‘
i g } o
pesch o .(l
: \_M
T )
mm
I EE A B WEFERERT
B O® Ma() |WEEEE |
BEET A | H L(nxF) E | Da| R Z p
kg/m
CRW 4- 80 80 ( 1x 40) 73| 10
CRW 4- 120 120 ( 2x 40) 101 | 14
CRW 4- 160 160 ( 3x 40) 136 | 19
CRW 4- 200 200 ( 4x 40) 164 | 23
CRW 4- 240 240 ( 5x 40) 199 | 28
CRW .4 280 0.82 6.91 22| 11 280 ( 6x 40) 20 | 4 | 37|32 | 7
CRW 4- 320 320 ( 7x 40) 262 | 37
CRW 4- 360 360 ( 8x 40) | 297 | 42
CRW 4- 400 400 ( 9x 40) 325 | 46
CRW 4- 440 440 (10x 40) | 360 | 51
CRW 4- 480 480 (11x 40) , 388 | 55
CRW 6- 100 100 ( 1x 50) f 84| 9 |
CRW 6- 150 150 ( 2x 50) 129 | 14
CRW 6- 200 200 ( 3x 50) 165 | 18 |
CRW 6- 250 250 ( 4x 50) 210 | 23
CRW 6- 300 300 ( 5x 50) 246 | 27
. 57 ;
CRW 6- 350 L wd o1 |8 350 ( 6x 50) 2516 | 580 | 31 o
CRW 6- 400 400 ( 7x 50) 327 | 36
CRW 6- 450 450 ( 8x 50) 363 | 40
CRW 6- 500 500 ( 9x 50) 408 | 45
CRW 6- 550 550 (10x 50) 444 | 49
CRW 6- 600 600 (11x 50) 489 | 54 )
CRW' 9. 200 200 ( 1x100) 173 | 12
CRW 9- 300 300 ( 2x100) 257 | 18
CRW 9- 400 400 ( 3x100) 327 | 23
CRW 9- 500 500 ( 4x100) 411 | 29
CRW 9- 600 600 ( 5x100) 495 | 35
: ; 44 1
CRW 9- 700 o.d 649 2 700 ( 6x100) %0 | 9 | 565 a0 .
CRW 9- 800 800 ( 7x100) 649 | 46
CRW 9- 900 900 ( 8x100) 733 | 52
CRW 9-1000 1,000 ( 9x100) 817 | 58
CRW 9-1100 1,100 (10x100) 887 | 63
I CRw 9-1200 1,200 (11x100) 971 | 69
s == ==RES

HO)RTIEB1HRIARENES

Q)R THERFECBEBFRST —HFI0RZEE

B)—REERFZEE

-54 -



& & R Y

d1

dz

ExE

BETE

Cou(3)
kgf

b

aEHE

Fu(3)
kaf

i

10

4.5

M5

4.3

75 |

4.1

[ 130

120

40

CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW

80
120
160
200
240
280
320
360
400
440
480

14

M6

5.3

9.5

6.2

270

230

78

CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW

CRW

100
150
200
250
300
350
400
450
500
550
600

9.5

20.2

M8

6.8

10.5

6.2

760

-55-

670

220

CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW
CRW

9.

200
300
400
500
600
700
800
9200

9-1000
9-1100
9-1200




MERKRIEBAORI

5. Ru#iE
5.1 2R MR-MAR3

w
M
2. | L
£
opc| s
/7
W2 ) Wi
IMME | BRRY NER T (mm) RERT (mm)

H| Wy |W, | H,| P|D x d x g WI L | £ P, | Py | @
MR 15ML | 16 | 85 |15 |9.5|40 |6 x 3.5 x 4.5 32‘ 60 | 44 | 25 | 25 | 25
MR 15MN| 16 | 85 |15 |9.5|40 |6 x 3.5 x 4.5| 32 43 27 | 20| 25 | 2.5
MR 12ML | 13 | 7.5 |12 |75|25 |6 x 3.5 x 4.5 27}4?.4 34 | 20 20 |20
MR 12MN| 13 | 7.5 |12 |7.5{25 |6 x 3.6 x 45| 27(356.4| 22 | 15| 20 | 20
MR ©9ML | 10 | 5.5 9 |55|20 |6 x35x 3.3 20|39‘5 29.5( 16 | 15 | 1.5
MR 9MN| 10 | 5.5 ¢ |55|20 |6 x3.5x 3320305 19.5( 10 |15 |15
MR 7ML| 8| 5 7 4715 |42 x 2.4 x 23|17|304]| 23 13 |12 | 1.2
MR 7MN| 8| 5 7 |47|15 |42 x24%x 23| 17|21.7| 4.3 8 |12 |12
MR sML| 6 | 35 5(35|15[35x24x1 [12({195| 135, 7| — |08
MR  SMN| & | 3.5 513515 | 35 x 24 x 1 12|16 10 — | 8 0.8
MR 3ML| 4| 25 3 |26|10 M1.6 8|16 1 — | 85| —
MR 3MN| 4 | 25 a3 |26]10 M1.6 g|M.7| 67 |- — | 35| —

87572 & BOING36 Part25t WBK

Mp/Mpo

-56 -




MBEREKKRMLEBORY

5. RUBE
5.1 RER MR-MARY

<)

-
—

L

i

i | CPC MR-MN

H

[ 1]

I

RERY (mm) EXQUERM(N) | BIBE m) ER | ZNRE

E | hal| M x 921 g T | C(dyn.) Co(stat.): Mro | Mpo | Myo B'ng 2:.-:
3.6| 12|M3 x 55(2.8(4.3| 5350 9080 | 70 (26.9(26.9| 90 |1010 | MR 15ML
3.6/ 12/M3 x 55|2.8|4.3| 3810 5590 | 43.6 |10.9 |10.9| 53 |1010 | MR 15MN
— | 10/M3 x 3.5|2.6|4.3| 3240 5630 | 349 |16.0 |16.0| 51 600 | MR 12ML
— | 10|M3 x 3.5/2.6|4.3| 2308 3465 | 216 | 9.5| 9.5 34 600 | MR 12MN
— |7.8|M3 x 2.8/2.,2(3.3| 2135 3880 |18.2 |12.4 (12,4 25 330 | MR  9ML
— |7.8|M3 x 2.8/2.2|3.3| 1570 2495 11.7 | 64| 64| 17 330 | MR 9MN
— |6.5|M2 x 2,5(1.7|2.8| 1310 2440 90| 7.7 | 7.7| 16 230 | MR 7ML
— |6.5|M2 x 2.5(1.7 2.8 890 1400 52| 33| 3.3 9 230 | MR 7MN
— |45 M2.6x 20|11 |2 470 900 24 21| 21 33| 120 | MR  s5ML
— |45 M2 x 15112 335 550 1.7 10| 1.0 3 120 | MR 5MN
—133|M2 x 11| — |15 295 575 09 11| 11 1.2 53 | MR 3ML
— [33|[MI6x 11| — |15 190 310 06| 04| 04 0.9 53 | MR 3MN

@ : - -

& &

-57-




WERKRIEBORD

5. RURE
52 BE MR-WHR3

MR3IW~MRI12W MRI15W
w o
i M
¥ o
JH Ay
W2 W1

T MART (m) RERYT om)

H W, [W,|H| P|Py| Dxdxg, |W| L L Py Py %]
MR 15WL 16 9 42195140 |23 | 8 x45x 45| 460|745 | 585| 35 45 | 2.5
MR 15WN 16 9 42 |9.5|40 |23 8 x45x 45| 60555 | 395 20 45 2.5
MR 12WL 14 8 24 |18.5 |40 | — 8 Xx45x 45| 40| 59.4 46 28 28 20
MR 12WN 14 8 24 185|140 | — B x45x 45| 40| 44.4 . 31 15 28 2.0
MR 9WL 12 6 18 |7.5|30 | — 6 X35x45|30(50.7 | 39.5| 24 23 15
MR  SWN 12 & 18 |7.5|30 | — 6 x3.5x 4530|382 | 274 12 21 1.5
MR 7WL 9 55 |14 52|30 | — & X35x35|25/40.4 | 30.1| 19 19 1.2
MR  TWN 9 5.5 14 |52 |30 | — & X3.5x35 25316 21.2| 10 19 1.2
MR S5WL 65 | 3.5 |10 20| — |55%x 3 xX1.6|17(27.2|21.2]| 11 13 |08
MR 5WN| 6.5 | 3.5 10 20| — |55% 3 xXx1.6|17|21.1 15.1| 6.5 13 0.8
MR 3wl 4.5 3 & 26|15 | — 4 X24%X 15112 21 15 8 o= b
MR 3wWN| 4.5 3 & (26|15 | — 4 X24%X 1.5 12| 15 10 4;5

BN REBDINGIS Parf2it WEH

-58 -




o B R R R 1T

5. RURE
5.2 B& MR-WZ%|

"R

E posic L
L1 -
i | D
i =il \
JEBE=——= [ opc w-w 7
£ EAE] , '- /MY
i
.d|
) P
BERY (mm) EEAPEATN)| BHEE Nm) = BRINE
E he M xg, | s | T |Clayn)| Clstat) | Mo |Mpo |Myo Riaes
3.6|12 | M4 x4.5 | 3.5(4.5| 6725 | 12580 |191.9(93.1|93.1| 210 | 2828 | MR 15WL
3.6/12| M4 x 4.5 | 3.5(4.5| 5065 | 8385 |127.9|45.7 457| 128 | 2828 | MR 15WN
— [10| M3 x35 | 3 45| 4070 | 7800 | 95.6 |56.4|56.4| 94 | 1200 | MR 12wL
— [10| M3 x35 | 3 45| 3065 | 5200 | 63.7 263|263 63 | 1200 | MR 12WN
— |86/ M3x 3 | 2 2550 | 4990 | 459 [267|26.7| 47 | 660 | MR owL
— 8.6/ M3x 3 | 2 2030 | 3605 | 33.2(13.7[13.7] 33 | 660 | MR 9WN
— |7 |M3x 3 |1.6/32| 1570 | 3140 |22.65/14.9149 31 | 460 | MR 7WL
— |7 |M3x 3 [1.6/32(1180 | 2095 | 78 |73 73| 17 | 460 | MR 7WN
—|5|M3x15|1.1|23| 615 | 1315 | 68 |41 | 41| 75 | 280 | MR swL
— |5 |M3x15|1.1|23| 475 | 900 | 46 |22 22| 59 | 280 | MR 5WN
35/M2x16|08(18| 370 | 800 | 25 1.9 1.9 34 | 130 | MR 3wL
— |3.5/M2 %16 (08|1.8| 280 530 1.6 |09 |09 | 24 130 |+ MR 3WN
| © © H
o™
© | =
l © O—
P1

-59-




LSK EfREHAVEITN

3. FEEEEAR
EFEE
; RIBEE
BRSPS z | JARE c ESEh{ LR S
HETE B 20 0 C~UP WoRICE - EFEiEH
EEFE B Z1 0.02C C~UP —R% T B #aUXYEH - 2 - ISEME
_peT EMSRVZ80 - FXEED0THE < NCEEAR
iR = — HWUP  |ymmsoyimas  BIRESE
| eI T ool ~ FEEGR ~ NCESHR
Ll 23 0.08¢ HeUP | o o oRBATUERER ~ HPREVZEH
BEFEE Z4 0.13C H~UP EBEIHIN0 T H8

5t : TAEEJPCAREERERE

LSK EfREFZREFRFIH

1.BEAREE
ZREREIGT - WEITBRLZRERRS  flAEXIHOE » BENEREIRELZRIRN
HEETHBIR - BIKEBTIBRMIILE -

r
H:2

BB aE BIREI S
Hi(mm) Hz2(mm)
20 0.3 4 5 5.5
25 0.5 5 5 7
30 0.5 5 5 8
35 0.5 6 6 9
45 1 6 6 11.5

-60 -



LSK EfREBINLZERTEFIE

2 HERTIME
LZHRBU R RMREVIBE -

| IRERERAS HIE (kgf-cm)
15 M4 x 0.70P x 16L 42
20 M5 x 0.80P x 16L 90
25 M6 x 1.00P x 20L 140
30,35 M8 x 1.25P x 25L 310
45 : M10 x 1.5P x 25L 690

3.BEBIIBIRTSE
EWNNSIRESREGE - BUERTERBERRAUER - KEE1~B4FTRNEETE °
(CIREA CATSIERES - JBRHEE » SREER)

B1 BEBEIRIIEE B2 AFEEREE

i T
'ET = |
JW @ ™

B3 REREE B4 AREMLBEE

-61-



LSK EfREENEC(HHYERE

1. HETT
(1) 558 (2) -5 (3) B 1EE
20
8
M8x1.0P _|
I /ﬂdh—\ ES&——
‘ [ o[ _L N o
| -5 b= ____:l__!!_JI/ =3
[ L | e
i | M6x1.0P\ : :
M6x1.0P ] __}_ M4x0.7P o28MEF | | | g
23L&

BEVRERILD - R T UEIDETEY - IBETUERABRRE  BIMIDEERFRE -
{FFAEPINBSEEIL BB BRRVERES, - TURSLEEMEA BN CTERAEERAE -

- T

L

=

FERImm

fEFARYE =
158 7.5 M4 7.8 1.2
208y 9.5 M5 9.8 2.2
25%Y 11 M6 1.4 2.5
30/35%Y 14 M8 14.4 34
4581 20 M12 204 4.4
3. SNBSS AR
1 11 1 IV |
______________________ —{ I = e
________ — = § B 1
| ] — = B I
I —{ — § | — o
| I | |

-B62 -



LSK EfRSHAEEDR

s
\
. B3 _
M {7 /mm FL-GLFR -GR-15/20/25/30/35/45
BREE —RHR(C) | BRH) | BEBRP) | ESETR(SP) |BERZR (UP)
0 0 0
WEMBSHR RS 0.1 0,04 0.04 0.02 001
WEBER TS 0 Y g
£0.1 +0.04 0.04 20.02 0.01
JI— | mEMevEERE 0.02 0.015 0.007 0.005 0.003
| MEREIEEISE 0.02 0.015 0.007 0.005 0.003
HRSE ZF,70,Z1 Z0~Z4
ARCESAMAENTERTE BTETTEEER
RRDEYRMBEMN{TEERETE FHITEFTERER
LOEFRTERESR
: WEZEHE(pm)
BEEE (mm) ¢ H p Sp 0P
~100 12 7 3 2 2
100~200 14 9 4 2 2
200~300 15 10 5 3 2
300~500 17 12 6 3 I 2
500~700 20 13 7 4 >
700~900 22 15 8 5 ] 3
900~1100 24 16 9 6 3
1100~1500 26 18 1 7 4
1500~1900 28 20 13 8 4
1900~2500 31 22 15 10 5
2500~3100 33 25 18 11 ] 6
3100~3600 36 27 20 14 7
3600~4040 37 28 21 15 7

~63-



\Y ¥ Vo= 2271l Machine Tool Application

>EBAEY FL-CA,HA

LSK /&#RrIR~F / mm

FL 15CA

FL 20CA
FL 20HA

FL 25CA
FL 25HA

FL 30CA
FL 30HA

FL 35CA
FL 35HA

FL 45CA
FL 45HA

47

63
63

70
70

90
90

100
100

120
120

66.5

80.5
96.5

89.5
108.5

103.5
125.5

115.5
140.5

137.5
169.5

24

30
30

36
36

42
42

48
48

60
60

aw KEL SEM B

38

53
53

57
57

72
72

82
82

100
100

6.5
6.5

10
10

50.5
66.5

59.5
78.5

70.5
92.5

80.5
105.5

98
130

130

40

45

45

52
52

62
62

g3

.7 .

10
10

12
12

12
12

13
13

14
14

10
10

16
16

18
18

21
21

25
25

19.5

24.5
24.5

29.0
29.0

34.0
34.0

39.0
39.0

48.5
48.5

| MBx11

M6x10
M6x10

M8x16
M8x16

M10x18

|M10x18

M10x21
M10x21

M12x25
M12x25

N |

(o]

~

(o]

10
10

E

5.5

12
12

12
12

12
12

12
12

16
16

HERRE

M4x0.7P

M6x1.0P
Mé6x1.0P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P

1/8 PT
1/8 PT




\Y M VAN ,% 75_’[] Machine Tool Application

>=BEY FL-CA,HA

Co

Ma

Mg

Mc

kgf kgf-M [kgf-M kgf-M @ & /kg
15 15 60 |75 |16 | 4.5x7.5x5.5 0.2
20 18 60 10 |21.5| 6x9.5x8.5 | 1410|2430 | 15.9 | 15.9 | 23.7 0.35
20 18 60 10 |21.5| 6x9.5x8.5 |2170 3240 | 27.5 | 27.5 | 31.6 0.47
23 22 60 |11.5|23.5 7x11x9 2030 | 3510 | 27.5 | 27.5 | 40.0 0.59
23 22 60 |11.5|23.5 7x11x9 2770 | 4680 | 46.8 | 46.8 | 51.8 0.75
28 26 80 14 | 31 9x14x12 2860 | 4770 | 43.8 | 43.8 | 65.8 1.1
28 26 80 14 | 31 9x14x12 3800 | 6370 | 74.4 | 74.4 | 87.7 1.3
34 29 80 17 | 33 9x14x12 3800 | 6230 | 65.4 | 65.4 |104.7 1.6
34 29 80 17 | 33 9x14x12 5120 | 8310 |111.1|111.1|139.9 2.0
45 38 105 |22.5(375 14x20x17 6120 | 9750 | 127.6 | 127.6 | 213.2 2.8
45 38 105 |22.5|37.5 14x20x17 8200 (13000 217.1 | 217.1 | 284.1 33
Ma Ms
I ] @ @
© ©

- 65 -

MEE ‘
o [ A E\%
hLI N/u W e L
d| l T ; I\l\'I:

LSK:B1% | LSK:B#M

1.7
2.5
2.5

3.6
3.6

5.1
5.1

6.9
6.9

11.0
11.0




MTA %Jju Machine Tool Application

;AE88Y FL-CB,HB

U
==

FL 20CB
FL 20HB

FL 25CB
FL 25HB

FL 30CB
FL 30HB

FL 35CB
FL 35HB

FL 45CB
FL 45HB

FL 15CB

LSK iBREIR YT/ mm

70
70

90
90

100
100

120
120

80.5
96.5

89.5
108.5

103.5
125.5

115.5

| 140.5

137.5
169.5

30
30

36
36

42
42

48
48

60

53
53

57
57

72
72

82
82

100

100

6.5
6.5

10
10

50.5
66.5

59.5
78.5

70.5
92.5

80.5
105.5

28
130

40

45

45

52
52

62
62

80
80

- 66 -

3

10
10

12
12

12
12

13
13

14
14

10
10

16
16

18
18

21
21

25

25

24.5
245

29.0
29.0

34.0
34.0

39.0
39.0
48.5
48.5

11
11

10
10

12
12

12
12

12
12

12
12

16
16

M6x1.0P
M6x1.0P

Méx1.0P
M6x1.0P

Mé6x1.0P
M6x1.0P

1/8 PT
1/8 PT



MTA %EU Machine Tool Application

;5RSEY FL-CB,HB

LSK BEEIR T/ mm

=
W1
15

20

20

23

28

28

34

45
45

| BE

M1
15

18
18

22
22

26
26

29
29

38

B
F

&3

80

80

105
105

Ma

B2
175

10
10

11.5
11.5

14
14

17
17

22.5
22,5

B3

16

21.5
21.5

23.5
23.5

31
31

33
33

37.5
37.5

r L

L1
L —

o Ve [ i
= Ll E)=E=
L= 0a—"0il 5)=:

| ket i i B
d 4
F
dxDxh C | CO | MA MB | MC |LSKBI® LSKB#n

BT -

kgf | kgf |kgf-M kgf-M |kgf-M |
4.5x7.5x5.5 | 850 | 1380 10.1
6x9.5x8.5 | 1410 | 2430 | 159 | 159 | 237
6x9.5x8.5 | 2170 | 3240 | 27.5 | 275 | 31.6
7x11x9 2030 | 3510 | 275 | 27.5 | 40.0
7x11x9 2770 | 4680 | 46.8 | 46.8 | 51.8
9x14x12 | 2860 | 4770 | 43.8 | 43.8 | 65.8
9x14x12 | 3800 | 6370 | 74.4 | 74.4 | 87.7
9x14x12 | 3800 | 6230 | 65.4 | 65.4 |104.7
9x14x12 | 5120 | 8310 |111.1 | 111.1 |139.9
14x20x17 | 6120 | 9750 |127.6 | 127.6 | 213.2
14x20x17 | 8200 [13000 | 217.1 | 217.1 | 284.1

Me
[Te o]
@ @

= /L
&/ kg

0.2

0.35
0.47

0.59
0.75

1.1
1.3

1.6
2.0

2.8
33

SK
#/kg
1.7

2.5
2.5

3.6
3.6

5.1
5.1

6.9
6.9

11.0
11.0




\Y ¥ Vo3I Il Machine Tool Application

g7 &Y GL-CA,HA

LSK iBHREIRT/ mm

GL 20CA
GL 20HA

GL 25CA
GL 25HA

GL 30CA
GL 30HA

GL 35CA
GL 35HA

GL 45CA
GL 45HA

48

60

60

70
70

86

| 66.5

80.5
96.5

89.5
108.5

103.5
125.5

115.5
140.5

137.5
169.5

28

30
30

40
40

45
45

55
55

70
70

26

32
32

35
35

&3

50
50

60

6.5
6.5

10
10

10
10

13
13

38.5

50.5
66.5

59.5
78.5

70.5
92.5

80.5
105.5

98
130

- B8 -

26

36
50

35
50

83

50
72

60

12
12

12
12

12
12

15
15

23.5

24.5
24.5

33.0
33.0

37.0
37.0

46.0
46.0

58.5
58.5

M5x6
Mb5x6

M6x8
M6x8

M8x10
M8x10

M8x12
M8x12

M10x17
M10x17

10
10

10
10

15
15

20
20

5.5

12
12

12
12

12
12

12
12

16
16

M6x1.0P
M6x1.0P

Mé6x1.0P

‘M6x1.0P

M6x1.0P
Méx1.0P

M6x1.0P
M6x1.0P

1/8 PT
1/8 PT



N"IT;"\ %ﬁu Machine Tool Application

75 8Y GL-CA,HA

15

20
20

23
23

28
28

34
34

45
45

15

18
18

22
22

26
26

29
29

38
38

80

80
80

105
105

Ma

Co Ma| Ms | Mc|
kaf | kgf-M | kgf-M | kgf-M |
7.5 |9.5 | 4.5x7.5x5.5 850 | 1380 | 7.3 7.3 | 10.1
10 | 12 6x9.5x8.5 1410 | 2430 | 159 | 15.9 | 23.7
10 | 12 6x9.5x8.5 2170 | 3240 | 27.5 | 27.5 | 31.6
11.5| 125 7x11x9 2030 | 3510 | 27.5 | 27.5 | 40.0
11.5]12.5 7x11x9 2770 | 4680 | 46.8 | 46.8 | 51.8
14 | 16 9x14x12 2860 | 4770 | 43.8 | 43.8 | 65.8
14 | 16 | 9x14x12 | 3800 | 6370 | 74.4 | 74.4 | 87.7
17 | 18 9x14x12 3800 | 6230 | 65.4 | 65.4 |104.7
17 | 18 | 9x14x12 5120 | 8310 |111.1|111.1|139.9
22,5|20.5 14x20x17 6120 | 9750 |127.6 | 127.6 | 213.2
22.5|20.5 14x20x17 8200 |13000{217.1 |217.1 |284.1
Mg
‘H ® o ||
: | =
| S $ $ -

KB | LSK/B#N

0.54
0.67

0.9
1.1

1.5
2.0

2.6
3.1

*/kg

1.7

2.5
2.5

3.6
3.6

5.1
5.1

6.9
6.9

11.0
11.0




Industrial Application

;AR FR-TA,SA

FR 15TA
FR 15SA

FR 20TA
FR 20SA

FR 25TA
FR 25SA

FR 30TA
FR 30SA

FR 35TA
FR 35SA

| Bw EEL |
52 57.5
52 40.5
59 66.5
59 47.5
73 79.0
73 55.0
20 92.5
90 63.5
100 | 104.0
100 70.5

24
24

28
28

33
33

42
42

& &

=EM B

41
41

49
49

g3

72
72

82
82

55
5.5

6.5
6.5

w0

39.5 |

22.5

46.5
27.5

59.0
35.0

69.0
40.5

79.0
45.5

50

o T

10
10

12
12

13
13

11

11

10
10

16
16

18
18

21
21

34.0
34.0

39.0
39.0

M5x11

M6x10
M6x10

M8x16
MBx16

M10x18
M10x18

M10x21
M10x21

M5x11

4.5
4.5

8

5.5
5.5

12
12

12
12

12
12

12
12

M4x0.7P
M4x0.7P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P



INA FR 5 Industrial Application

__|gl

4-Sx/

LSK JBFHIR T/ mm

oo e i
T = U jilE==
L d'l { T | = Ll

3% | LSKB8),
g

20
20

23
23

28
28

34
34

15
15

18
18

22
22

26
26

" 29

29

60

60

60

60

80
80

80
80

Ma

7.5
7.5

10
10

11.5
11.5

14
14

17
17

C | Co| Ma|Ms | Mc|LSK
kgf | kgf |kgf-M |kgf-M |kgf-M ‘ &/ k
18.5| 4.5x7.5x5.5 850 (1380 | 7.3 7.3 | 101 0.2
18.5 | 4.5x7.5x5.5 550 | 1132 | 2.04 | 2.04 | 4.08 0.15
19.5 6x9.5x8.5 1410 | 2430 | 15.9 | 15.9 | 23.7 0.42
19.5| 6x9.5x8.5 | 730 |1468 | 3.06 | 2.04 | 7.14 | 0.35
25 7x11x9 2030 | 3510 | 27.5 | 27.5 | 40.0 | * 0.71
25 7x11x9 1190 (2295 | 5.1 | 4.08 (12.24 0.59
31 9x14x12 2860 (4770 | 43.8 | 43.8 | 65.8 1.1
31 9x14x12 1754 | 3315 | 9.18 | 8.16 |21.42 0.8
33 | Ox14x12 | 3800|6230 | 40.8 [34.68| 612 | 1.5
33 9x14x12 2428 | 4498 |14.28 | 12.24 | 34.68 1.0
Ms
o o []
& <

- 71 -

1.7
1.7

2.5
2.5
3.6
3.6

5.1
5.1

6.9
6.9




INA % 5“ Industrial Application

;3=E58Y FR-TB,SB

LSK iBRAVR Y/ mm

FR 15TB

FR 155B

FR 20TB
FR 20SB

FR 25TB
FR 255B

FR 30TB
FR 30SB

FR 35TB
FR 35SB

73
73

20
90

100
100

40.5

66.5
47.5

79.0
55.0

92.5
63.5

104.0
70.5

24

28
28

33
33

42
42

& &

| B

41

49
49

60
72
72

82
82

BLI

5.5

6.5
6.5

TR

225 (ju=
465 | 32
275 | -
59.0 |35
350 =
69.0 |40
T -
79.0 | 50
455 | -

73 -

10
10

12
12

13
13

it

11

10
10

16
16

18
18

21
21

19.5

22.5
22.5

26

26

34

39
39

4.5

b.5
5.5

4.5
4.5

~

5.5

5.5

12
12

12
12

12
12

12
12

' M4x0.7P

M4x0.7P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P



| WN-NE W industrial Application

EEaRY FR-TB,SB

=

15
15

20
20

23
23

28
28

34
34

Wi | M;

=1 /52,

15
15

18
18

22
22

26
26

" 29

29

LSK jB#8YR </ mm
== | BEEE

F
60
60

g3

60

80
80

88

Ma

B2

7.5 |18.5| 4.5x7.5x5.5
7.5 |18.5 | 4.5x7.5x5.5

10 (19.5| 6x9.5x8.5
10 |19.5| 6x9.5x8.5

11.5| 25
11.5| 25
14 | 31
14 | 31
17 | 33
17 | 33

o M= ]

- g

7x11x9
7x11x9

9x14x12
9x14x12

9x14x12
9x14x12

850 (1380 | 7.3
550 1132 | 2.04

1410 [ 2430 | 15.9
730 | 1468 | 3.06

2030 | 3510 | 27.5
1190 | 2295 | 5.1

2860 | 4770 | 43.8
1754 | 3315 | 9.18

3800 | 6230 | 40.8
2428 | 4498 |14.28

15.9
2.04

27.5
4.08

43.8
8.16

34.68
12.24

10.1
4.08

23.7
7.14

40.0
12.24

65.8
21.42

61.2
34.68

1=

=78

ILSK/E1E | LSKIB#,

&/ kg
0.2
0.15

0.42
0.35

© 071

0.59

11
0.8

1.5
1.0

>/ kg
1.7
1.7

2.5
2.5

3.6
3.6

5.1
5.1

6.9
6.9




INA %5” Industrial Application

g7 8 GR-TA,SA

LSK @R~/ mm
B 2 | Bw
GR 15TA | 34 67.5
GR155A | 34 50.5
GR 20TA | 42 76.5
GR20SA | 42 57.5
GR 25TA | 48 89.0
GR 255A | 48 65.0
GR30TA | 60 | 102.5
GR30SA | 60 73.5
GR35TA| 70 | 114.0
GR35SA | 70 80.5

24
24

28
28

33
33

42
42

& &

26
26

32
32

35
35

40
40

50
50

6.5
6.5

10
10

10
10

39.5
22.5

46.5
27.5

59.0
35.0

69.0
40.5

79.0
45.5

35

40

50

=7

7.5
7.5

13
13

19.5
19.5

22.5
22.5

26
26

34
34

39
39

Sx/
M4x5
M4x5

M5x6
M5x6

M6x8
M6x8

M8x10
M8x10

M8x12
M8x12

4.5
4.5

5.5
5.5

12
12

12
12

12
12

12
12

MRS

M4x0.7P
M4x0.7P

M6x1.0P
Méx1.0P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P

M6x1.0P
M6x1.0P



INA %5” Industrial Application

M7 EY GR-TA,SA

LsK BBV R T/ mm

W1
15
15

20
20

23
23

28
28

34
34

M1

15

18
18

2
22

26
26

29
29

BE | B8

F

60

60

60

60

80
80

80
80

i

10
10

11.5
11.5

14
14

17
17

9.5
9.5

11
11

12.5
12.5

16
16

18
18

Co
kgf

4.5x7.5.x5.5
4.5x7.5.x5.5

6x9.5x8.5
6x9.5x8.5

7x11x9
7x11x9

9x14x12
Ix14x12

9x14x12
9x14x12

850
550

1380
1132

2430
1468

1410
730

2030
1190

3510
2295

2860
1754

4770
3315

3800
2428

6230
4498

Ma
| kgf-M
7.3
2.04

15.9
3.06

27.5
5.1

43.8
9.18

127.6
14.28

Ms

7.3
2.04

15.9
2.04

27.5
4.08

43.8
8.16

127.6
12.24

kgf-M |

kgf-M
10.1
4.08

23.7
7.14

40.0
12.24

65.8
21.42

213.2
34.68

0.18
0.11

0.25
0.23

0.54
0.45

0.9
0.7

1.2
0.9

Mc [LSK;@Ht | LSK:&#h,

1.7
1.7

2.5
2.5
3.6
3.6

5.1
5.1

6.9
6.9




(REARSERE(E)RPH(C)ZEFE (JIS B 1192)

BESR | o ct c2 c3 cs | c7 | cwo
ME MUF TE e *E e *E e *E e *TE e e e
100 3 3 35 5 5 7 8 8 18 18
100 200 35 3 45 5 7 7 10 8 20 18
200 315 4 35 6 5 8 7 12 8 23 18
315 40 5 35 7 5 9 7 13 10 25 20
400 500 6 4 -8 5 10 7 15 10 27 20
500 630 6 4 9 6 11 8 16 12 30 23
g 630 800 7 5 10 7 13 9 18 13 35 25
8 80 1000 8 6 11 8 15 10 21 15 40 27
W 000 1250 9 6 13 9 18 11 24 16 46 30
R +50 +210
g 1250 1600 11 7 15 10 21 13 29 18 54 3 Y X
(mm) 1600 2000 18 11 25 15 35 21 65 40
2000 2500 22 13 30 18 41 24 77 46
2500 3150 26 15 36 21 50 29 93 54
3150 4000 30 18 44 25 60 35 115 65
4000 5000 52 30 72 41 140 77
5000 6300 65 36 90 50 170 93
6300 8000 110 60 210 115
8000 10000 260 140
10000 12500 320 170
IR ATER R E 300mm 2 Bl (€300) ERIEME (€2, ) 2 BFFE (JIS B 1192) |
: B pm
EESR co c1 c2 c3 c5 c7 c10
e 35 7 8 18 50 210
ezn 3 4 6 8 -]

-76 -



HoOEE(KEEER)

B R ERIRAR 2 7T I R TR AR -

R 19 B KBl [0 [ B

i T “%ﬂgﬁt!??n:r?)ﬁmﬁ ﬁﬁfﬁ:ﬁﬁfiﬂﬂlﬁﬁ
4mm~14mm 0.05 0.015
15mm~50mm 0.08 0.025
50mm~éomm 0.12 0.05

FEEEEE{E (Unit : kgf)

b3 = EIRIgEE BIRIEEE
o 1605 0.1~0.3 0.3~0.6
1610 0.1~0.3 0.3~0.6
1616 0.1~0.3 -
2005 0.1~0.3  0.3-0.6
2020 0.1~0.3 T
2505 0.2~0.5 0.3~0.6
2510 0.2~0.5 0.5~0.8 o
2525 0.2~0.5 .
3205 0.2-0.5 0.5~0.8
3210 0.3~0.6 0.5~0.8 :
3220 0.3~0.6 5
3232 0.3~0.6 ’ -
4005 0.2~0.5 0.5~0.8
4010 0.3~0.6 0.8~1.2
4020 0.3~0.6 3 _
o 4040 0.3~0.6 f -
5010 0.3~0.6 i 0.8~1.2 a
5020 0.3~0.6 -

P



RAGEZTRENET

RERISNT RN ZIEE » HUBESNT

L () EERESEENREA - ATRESERUNLEIOEEREE -
(2) fEE RIS S IR F o AES R BN EME -

(3) EE RIS IS IR IR E - A EBINKENERE -
(4) HHRESIEHNEG - ATRENDEENZRNNZEANERE -
(5) HERSEMEA - AERENEED (EER) NEME -

(6) MERESHMERC » AERIENG (FHEEZEE) NFTE -

(7) RAZSBRRAYEE S ERRIRRE -

AT EEEE R JIS 1102~ 1107 REE

(@) (1 (5) ] (1)
ol [F] oL 1A o [A —24 |G
ii EI-_-E
3£ e ot o R 1 O o o i
(3) I T | ] . !
1 [F— [Fl | (] G
(3) d\j (4) (3) hd
L [F}— 16
L] €]
(6)
/ C
EF———3
[C]
REKBEZRIBUMNBE

-78 -



REHT

* BEBIEFREBIRKIFEN - EX 2 HEBHRENMEENE 2.3/ -
o MRBHERBRNEFFEEANLELUIIS IRBREE - MR 2.6 1 -

(1) W= .S
ARIEPRIRAIZ YR BT IR K RIS 2 UL TS
THEK1SREVEER (#92 « ) IRARER » A

[EFRE RIS B S i AR M E 1R
MEERVIRITPIEHIER T -

Gl FE® HE

KA TR NNEERS RERIRITE - TE9\ SR
BEAVAET » SREENZIFIHIIRIEATE
ZENHAERE L -

B % B %
R EEF R R EIANE [ B2.22 (1) )

W EE

BRERATER ENFRRENRERVEENE - BX
MEEREERIBRENSE -

 EEREE
/ N
Lol giths 1G] w\-
(| / [ mmEe) iy
&y / BIEWENE(2) -
) kz |’ll ™ _D_ SN a0l
I N TSEIEEE)
2 B,/
=  gemEa BEEREYER
& | IR | E 0
0
H EROENRDES | ]
2] W0 G ()
I__l‘_'l___________. _
L .-ﬁl'___’-‘-(-\
5| —— V. | ()
) f _T ERRIBERHES)
— /  EERrnER)
| BEEEE
FEEXRAERVER AR

B X
FRE R B EIRAER B BN BAIELSE -

B = = %
RERIZISE BIFEEE SN IBFE -

FTHYXMAE
IR BEWEER  PIRIE/METEEEETIE
2 E IR A SRS BN I -

[ (8) I8 _E:L=0E T lE
IZHENBNEREA : (FIRIEMEEESNATHE
LERAEE)E - /) EEEEIRERAEIESK
I=F =0

B R N
MR IR IS E R AV E ARV S ENEAILEER -

-79-



R RODFHE

BRRMEE mm

400051 F 400013/ 1100004 F
L 1 - 40T $ESLE 1 : 40~1: 60 "
Fil FR FiR

#&& BT Cco | Cc1 C2:C3 C5 | CO  C1 C2C3/  C5 | C1/C2C3 C5

2 | 4 |£35%|t40% *45% +55% +45% +45% +55% +65% - | - | —

4 | 6 |+25%+30% +35% |+a5% +tagk| +38Y a5k ts0% — | — | —
6 | 10 |+20% +25% +£30% +35% +30% +30% £35% +£40% — | £40% [£45%
10 | 25 +15% 204 £25% +30% +25% +25% £30% +35% - | +35% [+40%
25 | 63 |+£10%|*£15% +20% |£25% £20%| £20% £25% +30%| — | £30% [+35%
63 | 100 | — | — |*15% |+20% - | - |*20% +25% - | £25% [+30%

f@st: 1. fiREMBLURSHAVIFEMIRE (mm) FRIFMFMAN EFTSMERZ -

2. EEHE 2 kgf e cmBP T KIRRSITEE -

BEXEHIE Tp WEL
TARRIRIRISHVE SR Tp(kgf « cm) HISTEIVIITAIR ©

Fao-¢
2
fElt » Fao : YEE ST (kgf)
A BiEH
¢ : B2 (cm)

AIERIF

ARSI (Tp) BLATRAVAIERRFIIE 2.3 P
13 - BENFREE - AERERETRE —LEEE
=271 (F) Bi#% (F) WAIEERNER (L) » FISZIEER Tp -

Tp:F <L

Tp =0.05 (tan 8)°° -

BIERRE (1) AIERRL MRS RREE T BT -
(2) BIEEEEA100 rpm o
(3) (EREERREKIRISK2001 (TXAHE
TBHELE D) BUIRAE » LUSO VGBBREE -

-80 -

" FE=EHLOAD CELL)

YEE SN BIERI B



8 5) 1715 T A B0 B 1

RIKIRIZAVTA R ER R

RREFNETEURBE  — MO EABERRKFFENE
BREE S—ESENRESHMELIRERIBOE
ERAETREE » LEMES A9 B RIKER
GO0 FREE SR RN ©

(1) REBBSE

a. BIRERKFENREBDE
EMERENPERARRBRSENRE » 9978
TEME :

@S 1FTT  RIBARIDIHA)EERHEE
MEBHRARIEZRE - EINFRET] - HIEE
A BELHRER - AR MHREET]

E ]

(2) MR DEETRE 2R

ES5. 3 IRIEA - BOFEHEE N F0 » 5% %E
ZE RIS BB BN . EIREEATE
fAFaJIRIRIBARS » RES. 4577 » 1R1IEA ~ B2
BITBR

5A= (?aa+ 5‘;1

Op= Gav- Cal
ERINRIEIEA - BZERR

Fa=Fao+ Fa—Fa'=Fa+ Fp

FB=Fao— Fa'=Fp
(5t ¢ FAERFEISEIMR)

-81-

b. EBIRIERIKIRIEM AR E -

@S 2ATRERKBENE A RBEZEHE
REEMSIK - EREAEEMOIEBOE
B BRRERE -

0% = a2

SEE2EURE



MMENFa])FRIRIEB Z B2 B/D MBE @RI - 45
RIFEAZBIEREE ) KBR—EBFEE
RSN I EETNEE BB du FR 0w »
TRIEBZ FEREARIE - BE S REBITRE
< BARIVA RPN ¢

Ow=KxFao and 20u0 =KXF|
(F)/ Fao) = (28a0/ Sa) = 2°
Fi1 = 2.8Fao = 3Fao

FINBMERARNIRRAMWRSFTAI/3 - 8
ANEET])  HEm BRBERTIREE-B
AREBRNEREARERMTAI0% -

G5 . 557 » BREBNRKEENHERIR
HRIRR 2 BB mE » ERNARDIEZ
WEEEN BREBNRAREABHEERE
HTE R RIKIRITAY1/2 -

UR0E B Z R RO A 2R
T . t Y 3 ESiy
By it \"-. a
| v
@l ™ v
=]
fal : F
R Fa
Fa
I i Fao
Fp
1t
— gﬁg ult - |
T wEA eEs
ELEREERAE
HRER
B a0 )
v
-
icd

Fao F=3Fao
WasE Fa

SEE R HR

ERRREERERNRER

ERBEERENEZED - BEAE  ERRAFNBIMSMRENES » HERIRFMELNNER « B5IE

HEBEESAERRNLSBRE -

BB

IRITHMARMBREN FENEEERIL - BB
MZHE » TH6.6FERE -
ALg=p -0 -L
eIt
AL, : ABES
o EARZLREL
g BRATHAV ISR
L RIRRIEMER

FRABER1000mmRNFEREBH—CHBBEL
12 ympyBRRE - ALAERKFENERIGASHERE
WNT « hERBRAEENBEMBELRESENE
Ik - SAERKFEERNEBREAS » Q¥
BFHAREIEF » BEBMFIAX - AU RIER
HETERNAREER ?» BT =15

e

(1) EHIBRSE :

o RIFEERERT] -
o RIFFEEEEREERE -
o INARIRIRITHEE - FESER -

(2) HEF3aEBa0 :

o IRIFEIZEAZE » FA—RDEIREBA - F
AnalRELRE -
o IRITE NG LU IR M ZER K IBAD -

(3) BBRBHIEE

o RIERIBBIRREWEIRE - HNEEMILE °

o WIBCHE REERE - BEEDIBENNRE
“BEM -

o ISR T RIFHEFRALI -

o EARAEERAYSIVEN



REBENED

FRIRGRIFRN 2R EREMARE T2 » A RFMEHERPEMELASER - MPAEREEEHERLEN
REHRRERFENED  —REIRWIE

a R @ BEIMBRRIFE2 -

bEEEN - AEEERBEERLFEZ -

RS

RHRBENESROERDABER % TRHELHETEFREHE -

BEXEBERRFCa

BEARE—HARREN R EENEEES10°% » Hho0%M IR Ff @R SMEL JIHES -
RitE O SEERBBEER (Ca) -

(1) BayEteE 6.1 N
RESME=RBRIRON : Eil i EE(Y) Jw
aBE\Y : b WEERR : c. B [ V<15 (m/min) 1.0~1.2
ca Y o 15<V<60 (m/min) 1.2~1.5
= -[Fax f,,,] 0 B V>60 (m/min) 1.5~3.0
4
" 60xn ERARKRIRR > SHARNBRBTES @
Lxl FBRSM - BERBNRKRERTAX »
s=70% BHAEENER AL TR B SHER
BREFRNERERESS -

ELE IS 20,000/)\pF
L BeEh BeDByET BEMERI. . occinc sianiiiinavminiiniins 10,000/)\F
L: e  ARFERBEET EEREEHIRE. ... 15,000/ )\
Ly: BRES . BRERET R s 15,000/ \BF
Ca: BABBEST
Fa: BE&f
n o [EHAEE
I : Bfg

fv: BEFRE (RFR6.1)

-83-



(2) IR -
EMOaETHTeeR  BEGNRSSS - MUARSIELHINORR (Fr) 717 - BRfILEO&RE
(Fa) 7RYH - C8H (n-1) [ERXEH - TFI=FBMR - AOWAT -

a. EFERTUHRE (@6.1)

FoEAS R A I ATUKE ¢ ; L=t R fedzzliS
i F,:j-npr;+Fz"-nytz+-----+F,,3-n,,-tn (kef) (rpm) (Sec)
nptit nplyt et Aty F; n, 1
e =1 Fz n, t:
Fi9ERAB TIAINKE . ! :
N = nptit ettt ity : .
" L+ttt F n, t,

b. 2T U E#REF : (H6.2)
PO aEHREERIEe.2F - ATRATIE.CREILUE ¢
Y V) S ) L e (6.6)

F

I
I I
' | : | :
0 T | | 0 |
nity | mat2 | natn | _ Injtj

W 6.1 EEREHaT [ 6.2 A ERBHENET

c.ZIEFHIRE - EMERTUIE6.3
1T EVIMESERREEKRAE.3-16 » TMTIIRNKRETIE -

F,= 0.65F o
2. E PSSR B e HEN6.3-2kF » A TIARNKRETLIE :
F=0.75F o
F F
—————————————————————————— | Fin !
0 ' 0!
I T S, R
631 2EFmEReNasE— [E 6.3.2 SRR amnaE_

o Bl



18 1E B

FIRIRITHVIREM R ERFEE UK 6.2 AR

EE sngsnmunme

B =3 il MR I FEE(HRC)
BT TS 50CrMo4 QT S 3R 20 JER 58~62
SRR S55C iR R 58~62
[ £ =] SCM415H - BT 58~62

RIKZEMERNEESE - BEkREFHEBEERRCEBEN
EFHE30~40cst(40°C) B MEMISOZ#R32~100 -
EIBUKER ¢

1EBHAZRN - FHEHMEENEEE -

250 SETNED - BERARE - FREREERSHESEE -

K6 IRTEBECRERMEERZ —RIER - BRRNERENBRERUNEDTREBILFHLSE -

K HERC BRERGEE
N b =EEE Y]] e E IR
B EERRiaH Z—EH HE - 8§55 BREERHE - B ESEERER
heah=gi5 T {ExDER2~3{@ER EEEMEAN BEE—EME  BRBEEREERHR
i BHEETA HEEE BRI EENER

RARBERSWE—F > ERARYIKDF  BEFINR  RESEZZENRE - BERL - 2230
RIRRRRIENARMBENBERRE - LLERHENRR - SATENERNARISEN ORER . 9
PABG LR RAY SR A -

-85-



6.TRKEECERREHET

RIKRIZHRER R

RIFRRRIER >  BAZEENRTER
EBERHEBRAERS - ERRELTWRA
- B RENEREEEEE - &
7% ELEE - EBRELRE - @It -
B2 RIELEE  FEERZBEEM
B Hh—BEERNENESEEMBER
e - WEIBRRBERZEIFE -

RIRFIFHEESTE

2

AR

BB

1. TFEEE 300 Kg
2. TFEE 400 Kg
3. RAEE 700 mm
4. PERRE 10 m/min
5. BmVDEEEE 10 um/ {552
6. EEENEE DC SiE  (MAX 1000 min™)
7. B |EEERE (1= 0.05~0.1)
8. EE)R 60 %

5. WEERISEE

10. NGRS 2 @B DR TSR LA » TR

=

1 EEB IR E

(a) EWMBmEFEH(hr)AHEE
B X[ X[ e

WOFEN /B @80 / F S0EH

(b) B ERA

L ES

(c) ENFEE
EREERENEESR » BEERE -
ERRRENBIITEEEMNBIEL - A
BRI EENRBELURES I EHEERE
EEZRFENRBMUSE -

BV s . o]

| LESEMETE

(a) BEEMFEH(hNPEE

H = 12hr x 2508 x 10%F x 0.6§# &2 =18000hr
(b) MR

10m/min/1000min" | Oy | 10%
6 / 600 | 100 & 70 | 50
2 / 200 | 200 | 70 | 30
1/ 100 | 300 | 70 | 10

- 86 -




2 RIKZIRBEE ¢ (mm)

. RERE  (wmin) x1000
FERSEER (Min™)

2. FIRIFIREAR ¢ (mm)

fm 0000 _ o i
000
10mm -
= = 0.01
BV~ 1000 ore mm/ 7R

3. F1IFEE Pe (keDRYETE

Pe=( Pinits+ Pt + «+- + Panntn )’ﬁ
nti+ nete+ -« + Nita

Pa= 2Pmax + Pmin

3. E Pe (keD HIETER

Pe =

(_79°>< 1000 % 10+170" X 600 X 50+270° 200 % 30+370 % 100 % 10
1000 X 10+600 X 50+200 X 30+100 % 10

)‘ )

3 -( _s17x10” )
pe=0.65Pmax 47540
pe=0.75Pmin

= 189 kgf
4. FIIEEEH . 4 1IEEH n.

niti+nata+ - +nntn
Nm=-
100

e 1000 10+600 % 50+200 % 304100 10
100

100

= 470min”

S.FTEENERESR Ca(kgf) RIFTE

Ca=Pe-=*fs

5.FTEEMERT Ca(kgf) FIEHE

Ca =189 X 5=945 (kef)

6.ATEREEE S G Coal(kgf) FYETE

Coa=Pmax = fs

6.FTERFERES R Coa(kgf) HIETH

Coa = 369 %5 =1845 (kgf)

7 IRIERITCATEE
Ca>945 Coa>1845

REEXNBTETRELSHET
BfEEE ENETEZ ERREET -

7. BRETAYEE
MR BUER IR HESE SF1 4010

Ca=23178 kgf
Coa = 9480 kgf

- 87 -




8. J|nff] L) FUETE

8.FmisA LM KSR

ca Y, 1 o A 1 N YR BT
L‘:( Poetw) " Gona T L"( 189 ¢ 2 ) searn T
= 20479 (h)
9. BIZREBAVRE 9. ZITREAVRTE

RIERE=-RATE +RBNRE + 2 X Wik AR R

IZI2EE = 700+93+2 x 81=874mm

10. iR ARSI EE AR E 10. 15 SR PR BRI RE (F—Fs2Fy)
i i -
CL—L l‘ | ¥ ) -
T 1200 0
1 SO B 1. SRS EIE B0

ERE F-F 218 FiIEET

12.FEFEEM n R dm [BRIIEET
601

2 | Elg dr 7
e === = rpm
2 l? l = f L2 x10 (rpm)

dm= ENE X RSEEH

>

N=a

12.FFFCE@# n K am {BRYEED

210%352%10
1200

= 5353min' > Nmax

n=

dm = 40 %1000
= 40000 < 50000

13. VBT ~ BIMEAVIGES

13 BB AR - MIMEAIRET
(a) BVBIEIR
—A R R IR RIS E2~-5 CRURE
E8  DER2CREVERIRIFHRRES -
Q t =& - t - L

=11.7 X10-8><2 X700 mm=0.016 mm

EAAEL
Fe=
g L
4 2°
206x10% ~ 4 x0.016
= = 458 kgf
F00

-88 -




8. J|nff] L) FUETE

8.FmisA LM KSR

ca Y, 1 o A 1 N YR BT
L‘:( Poetw) " Gona T L"( 189 ¢ 2 ) searn T
= 20479 (h)
9. BIZREBAVRE 9. ZITREAVRTE

RIERE=-RATE +RBNRE + 2 X Wik AR R

IZI2EE = 700+93+2 x 81=874mm

10. iR ARSI EE AR E 10. 15 SR PR BRI RE (F—Fs2Fy)
i i -
CL—L l‘ | ¥ ) -
T 1200 0
1 SO B 1. SRS EIE B0

ERE F-F 218 FiIEET

12.FEFEEM n R dm [BRIIEET
601

2 | Elg dr 7
e === = rpm
2 l? l = f L2 x10 (rpm)

dm= ENE X RSEEH

>

N=a

12.FFFCE@# n K am {BRYEED

210%352%10
1200

= 5353min' > Nmax

n=

dm = 40 %1000
= 40000 < 50000

13. VBT ~ BIMEAVIGES

13 BB AR - MIMEAIRET
(a) BVBIEIR
—A R R IR RIS E2~-5 CRURE
E8  DER2CREVERIRIFHRRES -
Q t =& - t - L

=11.7 X10-8><2 X700 mm=0.016 mm

EAAEL
Fe=
g L
4 2°
206x10% ~ 4 x0.016
= = 458 kgf
F00

-88 -




(8F) TEBEIF - BREELNERD

© IKEERK
1. INERES
M =V
Pacc = MgX p+ T
2. BHREF
M <V
Poec = MgX M-—a—d;?
O EB{EHR
1 TRERFRVINERF « R RERVRERRS
Pu= Mg - a'g::t
2. EFRRIINERES  TRERFARLRRS
M =V
Po = Mg + S0 Al

M: BEEE (ko)

9 BIMNRE (9.8m/s™)
V:iRE  (m/min)

At IBGREERS )

“: EEERRE

AR EC.016mmZIRE F R K » N LE458kgf
HYFRAIT] - BIEEIEIRER -

(1) D
5 PL 27% 1200
SF = == 7
4AE 4x 12352 ”'435'2 %2.06x10"
= 0.00036 mm
W % =10.3x10° kgf / mm

(2) SHPREAZIEBMIIE

418% 7 %25
6.35 =52

370
Q= enas =10

=2.9%10"mm

370
Kn = Zaxio? = 1:28%10 kgf/mm

(3) STHFERAAVMEIIE
LASZIEMIFES0 kef/im ZRETHE

370
dp= ——— =
B = 37um
370 i
= o037 = 1%10°kef/mm

©0 rom=036 +2.9+3.7=6.96 #m

14. KRS S aAVIES

14 RIR IR R AnAVFESS

L = 20479(h) > 18000 (h)

-89 -




EEhERYRRENHRE TS
Ts=Ter+To+ Tr (Eﬁﬂ%)
Ts=Te+Te+To+Tr  (5EES)

To o DIERHEAE (1)
Te: BfEHHE (2)
To: TABEHHAE (3)
Te o EERIRRE (4)

(1) DIEHIE Ta

Te=Ja (kef = cm)
i 2xn {md;sz)
B60At

J: SEMREAYEIERIE (kef-cm-s®)
o BIRE  (rad/s®)
n:E§Es  (min')

At: PEERRSRY (sec)

(2) BfarifE Te

sl g
Tr= 27 (kgf cm)

P=F+uMg
P BISEIE (ket)
¢: BIE (cm)
71 IERER
Ei8EE SR RERESFFHBER

F: BDHITT (kef)

v EERRGRE

M: BEIVIBE (ke)

g : BIIERE (9.8 m/s”)

_ Peten:
Te= 57

7ot SRR
L memaemammEasmE

(3) yAEHAE To

5 - _Ke Pret
°= Jana 27

K : NEREREN (FBEFEA7R0.05)
P FHEREE (kef)

¢ : Bf2 (cm)

a BER

(kgf - cm)

Bl ssmrmeas

(4) BEEEiHRD TF

Te=Te+To+T. (kgf = cm)
Te - STRFSRAOEERRIRRE
To : ERFHERAVEERRIDRE
T FREBRRVEEERE

SEWMEREEIEERHENTE -
M AR RO RSB 2 N B
EBEE  NBEMRE LA B
WRFRIER ©

7.1 BfERITHD

TB
qb
|
|

[£Z ) aEEHHRE (£7.1)
J = Jes+deutdwdum
Jes | RERIRISER  1BITIHAE
Jou * GRS 1B
v EFREEIAED BB
St SEEREIER fEVTHE

- B

Zszors

CEEE ka/m) p=78%107

e SREE—-ENEREDMEOEYE ™
N EREE O EESE (min")

F EEmER ™

‘EEEE ™ e - TR
EEREESEE (ke Ju - FEESETS AT
| EARETYREAEE (m/ min)

BRSO (min)

<90 =



RN BRENEXRERRREE

2R25-25A2-2-FSED-2000-2500-0.05-R-P2

[

RE : POBRME P1ERE P2ERE PIEEE
R: #E#HR G: BER

BEHEZH (C7, C5, C3)

> RIEER

> IRHURE
> SEREL)#E N : No-cutting B2 %R

S : Single-cutting Et]8:%
D : Double-cutting B t])ig;%/
> BIREIN W: N EIR

U : X% DING9051
: RIBIR
= EEs
b S
I BBE

O X< m -

» IZIERT S : Single Nut ES1R15
D : Double Nut %8

» EREN F:BEM R EER X BRER

> B—1R1S L OIRIENE
> BERIRNETER

> BREH T=1H8

A=18H

B=25H8

C=35MH
> B2

— RIFABEE

» RS E RiBSF LESF
> IR

-91-



Type: FSU (piN69051)

Type A Type B
EBE{i] :mm

M
2% a1 [pa DA Bl L | w/|x [tyel H | a] n [cake]|coaiken| K
16054 16 5 3.175 28 48 10 50 38 55 A 40 M6 4 780 1790 17
1610-3 16 10 3.175 28 48 12 433 38 5.5 A 40 Mé 3 716 1232 15
20054 20 5 3.175 38 58 10 53 47 66 A 44 M6 4 1100 2280 21
25054 25 5 3.175 40 62 10 53 51 6.6 A 48 M6 4 1250 3070 26
25104 25 10 4762 40 62 12 85 51 6.6 A 48 M6 4 1944 3877 27
3205-4 32 5 3.175 50 80 12 53 65 9 A 62 M6 4 1400 4080 32
32104 32 10 6.35 50 80 16 20 65 9 A 62 M6 4 3390 7170 34
40054 40 5 3.175 63 93 16 56 78 9 B 70 M8 4 1575 5290 38
40104 40 10 6.35 63 93 18 93 78 9 B 70 M8 4 3850 9470 41
50104 50 10 6.35 7% 110 18 93 93 1 B 85 M8 4 4390 12400 50

Type: FSI
__ ;L_ Q Oil Hole
SEEE
—r S |
]
S i
{7 :mm

- B8
d |t [ papfAa[BJL[w][x][y[z[H][a]n cake]|coatken] K
1404-4 14 4 2381 26 46 10 47 36 45 8 45 34 M6 4 400 890 18
1605-4 18 5 3.175 30 49 10 50 39 45 8 45 34 M6 4 780 1790 17
1610-4 16 10 3175 34 58 10 546 45 55 95 55 36 M6 4 918 1643 15
20054 20 5 3175 34 57 12 53 45 55 95 55 40 M6 4 1100 2280 21
25054 i 5 3175 40 63 12 53 51 55 95 55 46 M8 4 1250 3070 26
25104 10 4762 46 72 12 85 58 65 11 65 52 M6 4 1944 3877 27
3205-4 - 5 3175 46 72 12 53 58 65 11 65 52 M8 4 1400 4080 32
32104 10 6.35 54 88 16 90 70 9 14 85 62 M8 4 3390 7170 34
4005-4 - 5 3176 56 90 16 56 72 14 85 64 Ms 4 1575 5290 38
40104 10 6.35 62 104 18 93 82 " 1756 1 70 M8 4 3850 9470 41
50104 50 10 6.35 72 114 18 83 92 "M 175 1" 82 Ms 4 4380 12400 50

-92-



8.3 Type: FDU (piN690571)

i

Q Oil Hole 225,

(N Q il Hole

@

()

| . &
= ~2| 0N
5] < La) | >
L Pl il e
LoH
Type A Type B BE{iI : mm
o " B
d |1 [ pa[p[Aa|B]L][w][x]tel H[a] n [cae]coars| «
1605-3 16 5 3.175 28 48 10 80 38 5.5 A 40 M6 3 780 1790 37
2005-4 20 5 3.175 36 58 12 92 47 6.6 A 44 M6 4 1100 2280 49
25054 25 5 3.175 40 62 12 92 51 6.6 A 48 M6 4 1250 3070 58
25104 25 10 4,762 40 62 12 153 51 6.6 A 48 M6 4 1944 3877 49
3205-4 32 5 3.175 50 80 12 92 65 9 A 62 M6 4 1400 4080 70
32104 32 10 6.35 50 80 16 160 65 9 A 62 M6 4 3390 7170 79
4005-4 40 5 3.175 63 93 15 96 78 9 B 70 Ma 4 1575 5290 84
40104 40 10 6.35 63 93 18 162 78 9 B 70 M8 4 3850 9470 97
50104 50 10 6.35 75 10 16 162 93 1 B 85 M8 4 4390 12400 115
8.4 Type: FDI
Q Oil Hole
2 W ___ 30
:t T
SRR y —wiiie A R
L ®:
. = ll=]
T i - =
©
| B_|
L H
B :mm
o o 1w
d | 1 [ pa[pfa[B]e[w[x[y[z]|nu]a]n[cake]|coaks| «
1605-3 16 5 3.175 30 49 10 80 39 45 8 45 34 M6 3 780 1790 37
2005-4 20 5 3.175 34 57 12 92 45 55 95 55 40 M6 4 1100 2280 49
25054 25 5 3.175 40 63 12 92 51 55 95 55 46 M8 4 1250 3070 58
25104 25 10 4,762 46 72 12 156 58 6.5 1" 6.5 52 M 4 1944 3877 49
32054 32 5 3.175 48 72 12 92 58 65 11 65 52 M8 4 1400 4080 70
32104 32 10 6.35 54 88 16 160 70 9 14 85 62 M8 4 3390 7170 79
4005-4 40 5 3.175 56 90 16 96 72 9 14 B85 64 m8 4 1575 5290 84
4010-4 40 10 6.35 62 104 18 162 82 " 1756 N 70 M8 4 3850 9470 97
50104 50 10 6.35 72 114 18 162 92 11 175 M 82 M8 4 4390 12400 115

-03-



Q il Hole

L g3 B R
B Xt Bt = )
H ot —
By : mm
-

B® Mgl 1 [oa o[ ale [t w]x[mype H|aln ]cak]|cCoa(ke]
1605-4 16 5 3 28 48 12 34 38 55 A 40 M6 4 1256 1642 *
1610-3 16 10 3.175 28 48 12 433 38 5.5 A 40 M6 3 716 1232
1616-3 16 16 3175 28 48 12 61 38 5.5 A 40 M6 3 716 1232
20054 20 5 3175 36 58 10 53 47 6.6 A 44 M6 4 1459 2193
25054 25 5 3175 40 62 10 53 51 6.6 A 48 M6 4 1622 2774

25104 25 10 3.5 40 62 12 64 51 6.6 A 48 M6 4 1854 3020

32054 32 5 3175 50 80 12 53 65 9 A 62 M6 4 2203 4080 *
3210-56 32 10 3.969 50 80 13 77 65 9 A 62 M6 5 3233 5947
3220-3 32 20 3969 50 80 13 78 65 9 A 62 M6 3 2009 3437
4005-4 40 5 3.175 63 93 16 56 78 9 B 70 Mg 4 2968 6538

40104 40 10 5556 63 93 15 70 78 9 B 70 M8 4 4550 8400

4020-3 40 20 5556 63 93 15 83 78 9 B 70 Ma 3 3866 6406

50104 50 10 6.35 75 110 18 920 93 11 B 85 M8 4 8129 16983
5020-5 50 20 6.35 75 110 18 121 93 " B 85 M8 5 7721 15269

-94 -

BiiE: BN K A LU B R



4-XiER

I/V o
T B
H i
B :mm
Fi A -
B o® ircui
d | | pa |D|Aa|lB|T|L|wW|x|H|a]|caKg]|coars| T | k
x Row)
16162 16 16 3175 32 53 10 105 45 42 45 38 M6 719 1429  18X2 9
20202 20 20 3175 39 62 10 108 52 50 55 46 M6 780 2280  18x2 21
25252 25 25 3969 47 74 12 12 64 60 66 56 M6 1230 3570  18X2 27
32322 32 32 4762 58 92 15 14 8 74 9 68 Me 1760 5500  18X2 33
40402 40 40 635 73 114 17 17 95 93 11 84 M6 2870 9170  1.8X2 42
22l
= &) T <
A U |
B
L
Bl : mm
i & BEAXETEEE (ke
BiIgRY B = 12 18
R - (1x10° REV.)
M Bi2 o o Ca(@&f) Co(@ &) Dg6 L B A
8 25 12 2.6X1 151 232 175 235 75 M15X1P
12 4 2.381 3.5X1 425 738 255 34 10 M20X1P
12 5 2 3.5X1 662 1036 255 39 10 M20X1P
16 5 3175 2.5X1 716 1230 325 42 12 M26X1.5P

-05.



L1 Qi#7L(OIL HOLE)
"R
2 o <
B
L
&8fif : mm
i & BEABEES R (kef)
RN 3 5 1% 15
R E (IKIO‘S REV)
N BE B o Ca(@&) Co(s3 &) Dgb6 L B A L1 Q
16 3.175 1x4 780 1790 32 56 16 M30x1.5P 6.5 M6
20 3.175 1x4 1130 2380 38 595 165  M35x1.5P 7 M6
25 3.175 1x4 1280 3110 42 60 17 M40x1.5P 7 M6
25 10 4,762 1x4 1944 3877 42 90 17 M40x1.5P 10 M6
32 5 3.175 1x4 1450 4150 52 60 19 M48x1.5P 7 M6
32 10 6.35 1x4 3390 7170 52 83 19 M48x1.5P 12 M6
40 5 3.176 1x4 1610 5330 58 59 19 M56x1.5P 6 M8
40 10 6.35 1x4 3910 9520 65 102 27 M60x2P 12 M8
50 10 6.35 1x4 4450 12500 78 104 29 M72x2P 12 M8
M
| I |
1 Jé}“—* | — il 33
(&
|
4-X thr | .8 |
H L
EE{(7 : mm
—_— RO
d |1 pa|D|Aa[B]L]W][] X [twe]H[a] n]| cakeh | Coakeh
0601-3 6 1 0.8 12 24 35 15 18 34 - 16 3 73 121
0801-4 8 1 0.8 14 27 4 16 21 34 - 18 4 93 173
0802-3 8 2 1.2 16 29 4 16 23 34 - 20 3 135 225
082.5-3 8 25 1.2 16 29 4 26 23 34 - 20 3 177 278
1002-3 10 2 1.2 18 35 5 28 27 45 : 22 3 185 305
1004-3 10 4 2 26 46 10 34 36 45 - 28 3 395 590

= O =



uare-Nut Rolled Ball Screws

BRNBS TYPE
. L _4M ) L
B , j c i
II '! [
A 4
- o
TP AN 1
-
— Y
x b
] V3%
= K 4 L]
‘ Oil Hole
¥ (M6x1.0) 0|
UNIT mm
Basic load rating
Assembly Shaft | Lead | Root | Effective (kgf) Width | Center | Length
diameter dia.
No. d 1 3 Turns | Dynamic | Static | W H L
J Ca Coa ]
RNBS1404A 4 12 3.5X1 535 1110 | 34 13 35
14 —
RNBS1405A 5 | 1142 | 2.5X1 530 990 34 13 35
RNBS1605A 16 5 | 1342 | 2.5X1 570 1130 | 42 16 36
‘ RNBS2005A 20 5 | 17.42 | 2.5X1 650 1450 | 48 17 35
RNBS2505A 5 | 2242 | 2.5x1 720 1850 | 60 20 35
25 i TR
RNBS2510A 10 | 20.05 | 2.5x2 3240 7050 | 60 23 94
RNBS3210A 10 | 27.05 | 2.5X1 2010 4700 | 70 26 64
32
RNBS32108 10 | 27.05 | 2.5x2 3640 9400 | 70 26 94
B COMBLNATION OF CODE NUMBER
RNBS 1605A BS1405-1000L C7
PART NO TACCURACY GRADE
- ROLLED SCREW
SHAFT DIAMETER NUT CODE SCREW LENGH

-97 -



ST i o
<) T I
LS |
UNIT mm
Standard screw
F B C U HXP (0] T Assembly No.
length LS
2 26 22 31 M4X7 6 6 RNBS 1404A
500 1000 1500
2 26 22 31 M4 X7 6 6 RNBS1405A
2 32 22 32 M5X8 6 10 RNBS1605A
500 1000 1500 2000 ]
3 35 22 39 M6X10 5 9 RNBS2005A
5 40 22 45 M8X12 7 95 RNBS2505A
1000 1500 2000 2500 e
0 40 60 53 M8X12 10 10 RNBS2510A
0 50 45 62 M8X12 10 12 RNBS3210A
1000 2000 2500 3000 —
0 50 60 62 M8X12 10 12 RNBS32108

C10=200u/300mm

C7=50u/300mm

C5 Grade is available

Please ground to you drawing or specification

=68 =



Recommended Shaft End Shape

EEEKR YT (BER) — BKFKEK
For Support Unit Type BK and FK and EK

Fixed Side
= | W =
? \ s :
; —d Jr“
-2
: o
B (Unitymm

BKH& d A B E F M S

BK 10 10/12/14 10 8 39 15 M10X1 12

BK 12 14/16 12 10 39 15 M12X1 12

BK 15 20 15 12 4 20 M15X1 12

BK 17 20/25 17 15 53 27 M17X1 14

BK 20 25/32 20 17 53 27 M20X1 14

BK 25 32 25 20 65 36 M25X1.5 18

BK 30 40 30 25 72 42 M30X1.5 24

BK 35 40 35 30 83 58 M35X1.5 28

BK 40 50 40 35 98 70 M40X1.5 35

E5{17(Unit):mm

FK& EK® d A B E F M s
FK6 EK 6 8 6 4 24 8 M6X0.75
FK8 EK 8 10 8 6 32 10 M8Xx1 10
FK 10 EK 10 10/12/14 10 8 39 15 M10X1 12
FK12 EK 12 14/16 12 10 39 15 M12X1 12
FK 15 EK 15 20/25 15 12 4 20 M15X1 12
FK 20 EK 20 25/32 20 17 59 27 M20X1 14
FK 25 = 32 25 20 68 36 M25X1.5 18
FK 30 - 40 30 25 72 42 M30X1.5 24

-99 -



Recommended Shaft End Shape

BMMiIRR T (21581) — FFEFBF
For Support Unit Types FF and EF and BF (Floated Side)

v e

i FRE BE E5{i7(Unit):mm
B R RIRIRAR WPHE BRARED ST
FF& EF & BF & d A
FF 10 EF 10 BF 10 14 8
FF 12 EF 12 BF 12 16 10
FF 15 EF 15 BF 15 20/25 15
- - BF 17 25 17
FF 20 EF 20 (BF20) & 32 20
FF 25 - BF 25 36 25
FF 30 - BF 30 40 30
- - BF 35 45 35
- - BF 40 50 40
5 ~ ()
¥ = RYZHN () RYBTBF00RY - BN
@ S FF20REF20MR T RA - RIAT MM
E— A MT R -
5 o —_
I F 02
0
E
ES {7 (Unit):mm
HiREE
E B F G
11 7.6 7.9 0.9
12 9.6 9.15 1.15
12 14.3 10.15 1.15
16 16.2 13.15 1.15
18 (16) 19 15.35(13.35) 1.35
20 23.9 16.35 1.35
20 28.6 17.75 1.75
25 33 19.75 1.75
25 38 19.75 1.75

-100 -



FK

EE{#l Fixed Side

4-X @3V B FZ
4-X drill through @Y counter bare depths

T

11

VL3
T
R S e e
§| g4 ——i-d §
; } W jedianche
I l
1 ”.s. |
-
L
8 {7(Unit) : mm
# | L | H| F|E|Dg| Aifrpo|B |[Lt [T | x | v |2z
FK 4 4 15 6 9 17.5 18 32 24 | 25 55 3 3.4 6.5 4
FK 5 5 16.5 6 105 18.5 20 34 26 26 5.5 35 3.4 6.5 4
FK 6 6 20 7 13 22 22 36 28 28 55 | 35 3.4 6.5 4
FK 8 8 23 9 14 26 28 43 35 35 ¥ 4 34 6.5 4
FK 10 10 27 10 17 29.5 34 5724 42 42 7.5 5 4.5 4
FK 12 12 27 10 17 | 295 | 36 54 44 44 7.5 5 45 4
FK 15 15 32 15 17 | 36 a0 63 50 52 8 6 55 9.5 6
FK 20 20 52 22 30 50 57 85 70 68 10 10 6.6 11 10
FK 25 25 57 27 30 60 63 98 | 80 79 13 10 9 15 13
FK 30 30 62 30 32 61 75 | 117 | 95 93 11 12 11 175 | 15
4-XiB30Y NEB5.FZ
§ﬁﬁ“ Floated Side 4-X drill through @Y counter bore depthZ
-
€
= B
)
€817 :__EI:"
I 5
i I !
B
H|F
e
EEfi(Unit) : mm
FF 6 6 10 6 a6 28 28 3.4 6.5 4
FF 10 8 12 7 43 35 35 3.4 6.5 4
FF 12 10 15 7 52 42 42 45 8 4
FF 15 15 ¥ 9 63 50 52 5.5 9.5 5.5
FF 20 20 20 1 85 70 68 6.6 11 6.5
FF 25 25 24 14 98 80 79 9 14 8.5
FF 30 30 27 18 17 | 95 ‘ 93 11 17.5 11

- 101 -



BK

B EE Fixed Side

4-XiBmH.0YMIESLFZ

4-X drill through oY counter bore depthZ

ot
G
bt b b
— e
[
| Qi il
l [ [ ]
| |_Cr _|c2
151 S S
BEfi7(Unit) : mm
_ﬁ | L]z |s|c1]ce|B | H ™™ e [ | E|P||Xx|Y|2
BK10 |10 | 25| 5 | 29| 5 |13 | 6 |60 | 39 |30 |22 | 34 |325| 15 | 46 | 55| 6.6 |10.8| 5
BK12 |12 | 25| 5 29 5 |13 | 6 |60 | 43 | 30 |25 | 35 325 18 a6 | 55| 66 |10.8] 65
BK15 |15 | 27| 6 | 3 6 |15 | 6 | 70 | 48 | 35 | 28 40 38 18 54 55 66 11 65
BK17 |17 | 35 9 | 44 7 |19 | 8 | 8 | 64 43 |39 | 50 55 28 68 66 9 | 14 |85
BK20 |20 | 35| 8 | 43| 8 |19 | 8 |88 |60 |44 | 34 | 52 |50 22 |70 | 66| 9 |14 | 85
BK25 |25 |42 |12 54 | 9 | 22 | 10 | 106 | 80 | 53 | 48 54|7o§33 85 | 9 | 11 [175] 11
|
BK30 |30 |45 14 61| 9 |23 | 11 12889 64 |51 76 78 33 102| 11 14 | 20 13
BK35 |35 |50 | 14 | 67 | 12 | 26 | 12 140 96 70 | 52 88 79‘35 114 | 11 | 14 | 20 | 13
BK40 |40 | 61 18 | 76 | 15 33 14 |160 110 80 60 100 90 | 37 130 14 | 18 | 26 | 175
B F 2-X#30Y TR EZ
2-X drill through oY counter bore depthZ
ﬁ - -
ElEE Fixed Side
EOE
B Z -
f | L
I -
w - i3
b n
P . | Pl
-0 il
L.
-
BEfi7(Unit) : mm
BF 10 8 20 60 | 39 30 | 22 34 | 35| 15 | 46 | 55 | 66 | 108 | 5
BF 12 10 20 60 | 43 30 | 25 3 | 325 | 18 | 46 | 55 | 66 | 10.8 | 65
BF 15 15 | 20 70 | 48 35 | 28 4 | 38 18 54 | 55 | 66 | 11 6.5
BF 17 17 | 23 86 | 64 43 | 39 50 | 55 | 28 68 | 66 9 14 | 85
BF 20 20 : 26 88 | 60 44 34 52 50 | 22 70 6.6 9 14 8.5
BF 25 25 30 | 106 | 80 53 | 48 64 70 | 338 | 85 9 1 | 175 | 11
BF 30 30 32 | 128 89 64 51 76 78 | 33 | 102 | 11 14 20 13
BF 35 35 32 | 140 | 9 70 | 52 88 | 79 | 35 | 114 | 11 14 | 20 13
BF 40 40 37 | 160 | 110 | 80 60 | 100 | 90 | 87 | 130 | 14 18 | 26 | 175

1

=

o

N
'



EK

EEE Fixed Side

2-X 3L
| 2-X drill through

EK4 -8

2-X:B3eY NI IFEZ
2-X drill through @Y counter
bore depthZ

o -
L

EK10 - 20

|¢a| |

2-X @3
2-X drill through

| /

EK45 L o —
EE{iI(Unit) : mm
EK 4 4 |15 | 55 175 | 3 | 34 [ 19 | 17 | 10 | 18 45 - -
EK 5 5 |165 | 55 | 185 | 35 | 36 | 21 | 18 | 11 | 20 45 | - -
EK 6 6 |2 | 55| 22 | 35| 4 | 25 | 21 | 13 | 18 55 | 95 | 1
EK 8 8 [ 23 | 7 | 26 | 4 | 52 | 32 | 26 | 17 | 25 6.6 ! 11| 12
EK10 | 10 (24 | 6 295, 6 | 70 | 43 | 35 | 25 | 36 9 | - | -
Ek12 | 12 |24 | 6 |205| 6 | 70 | 48 | 35 | 25 | 36 s | - | -
EK 15 15 25 6 36 5 80 49 40 30 | 41 T (e s
EK 20 20 | 42 | 10 | 50 | 10 | 95 | s8 lazs | 20 | s6 | 25 | 75 | 11 | - -
_ : 2-Xi@3Lo Y SA3LEZ
§ﬁtﬁ\" Floated S'de 2-X drill through oY counter ;
bore depthZ 2X ‘é,ﬁ'
o 2-X drill through
P s | | ﬁ';_/_
T 7y | e s @.{ -
i <5 = T
H | bl | il ‘
Lijt ! gl Lp 1 A (O 11 :
| | | gl b
e ot .
Bewsares satrail =
EF6, 8 EF10- 20
BE{7(Unit) : mm
_\.\._.-ll
11 ‘
EF 10 8 20 70 43 35 25 36 24 52 9 = 2
EF 12 10 20 70 43 35 25 36 24 52 o | - ‘ -
EF 15 15 20 80 49 40 30 41 25 60 g - |72
EF 20 20 26 a5 58 47.5 30 56 25 75 11 ‘ = _

- 103 -



sc P 8B / ILIRAREES / B EitEnas
COUPLING / PLASTIC & SET SCREW TYPE

2 M
oy /
,,/_;4;%
| 775N\
s = —\
\_ﬂ__./ /,.’
| A
i
R =F / Dimension B i1 /Unit: mm
Catalog dj xd2 Mass**
Number D 1 L G M BELC #E
A g " Min | Max__ (9)
SCP-16 16 6.5 23 3 M3 5 | 8 5 |
SCP-20 20 7.5 26 3.5 M4 6 | 8 | 8
SCP-25 25 8.5 31 4 M4 6 12 15
M gE / Function
R egonal | M Static Tortional | E f E f
otationa oment* tic Tortiona rrors of ITOrs of Errors of Shaft
Catalog Number Rated Torque | Max.Torque | EFrequency | of Inertia Stiffness Eccentricity | Angularity End-Play
R g6 —RHRAh BAHN | EEEEEY LB 3 HitEENE BIHRLC BHRA EIrMEAE
(N.m) (N.m) (min™) (kg- m?) (N.m/rad) (mm) {*) (mm)
SCP -16 0.15 0.3 6000 1.3x10”7 16 0.2 25 +0.3
SCP-20 0.25 0.5 8000 4 x107 28 0.2 2.5 _ *03
SCP-25 0.5 1.0 10000 10 x10” 35 0.2 2.5 +0.3
¥ /Material: #18 Plastic(® ~ & /black & white)
#51M4 /Features
1 2 T~ .
1.—88 55 & /One -body shape. g:ﬁi%ﬂ_\/ Product NO:
2. Z %4 /Zero backlash.
3./ B g /Resistiog acid and basic. SCP-20 - 26x26
4 %8#% 1= /High insulation. 5 ;
: - L1E /Hi flection. :
5MARERE HHigh deflectio B / Type FL7E / Inside dia

6584 K FERS 2] / It fits to Encoder.
7. BEBRIEEM R 70°C ZA /The workable temperatures within 70°C.
8.BEA : Itk E TR /Fixed mode: Set screw type.

« 0=




SCT/SCT

FIRERY / ILATIRMEIRET / SEvtashanas
COUPLING / SLITTED SET SCREW TYPE

L
G & , Z M
2
T T e
IR TN
e ullivers [ .. A%
1—2[@— —@ g s 6— j 7IL
\_1_/
[ I I L
&R </ Dimension 8 {i7 /Unit: mm
Catalo d1xd2 Mass**
Numbe% D 1 L G M fﬁ’};ﬁﬁ HE
B g8 Min_| Max (9)
SCT- 8 8 3.5 14 1.7 M2 2 4 1.3
SCT-12 12 5 18.5 25 M2.5 3| 6 L 7 I
SCT -16 16 6.5 23 3 M3 4 8 9.5
SCT -20 20 7.5 26 3 M4 5 | 10 16
SCT -25 25 8.5 31 4 M4 5 | 12 30
SCT - 32 32 12 41 6 M5 6 | 14 | 65 |
SCT -40 40 15 56 8.5 M5 8 | 20 120
SCT -50 50 18 71 10.5 M6 12 25 230
SCT-63 63 22 90 13 M8 15 | 35 470
SCTS-12 12 5 18.5 2.5 M2.5 3 6 14
SCTS-16 16 6.5 23 B M3 4 | 8 28
SCTS-20 20 7.5 26 3 M4 5 | 10 45
SCTS-25 25 8.5 31 4 M4 6 | 12 95
SCTS-32 32 12 41 6 M5 6 | 14 220 |
| SCTS-40 40 15 56 8.5 M5 g8 | 20 350 |
SCTS-50 50 18 71 10.5 M6 12 | 25 700
SCTS-63 63 22 90 13 M8 15 | 35 1300
€ M BE / Function
tatio * | Static Torti f
Catalog Number | Rated Torque | Max.Torque .3?;23223; i tashl?ff:erl?a' Esgeor:tslri::ty fnr;i'.i,?w E?.E ?:»g;aﬂ
RUgE — BN BAHN | BEEHY | oM | RMESENE| A%EL BHER | SHMALE
(N.m) (N.m) (min™) (kg- m?) (N.m/rad) (mm) () (mm)
SCT- 8 0.1 0.2 48000 1.2x107® 25 0.10 2 +0.2
SCT-12 0.2 0.4 32000 8.3x10° 35 0.10 2 +0.3
SCT-16 0.3 0.6 24000 3.3x10” 47 0.10 2 +0.4
SCT-20 0.5 1 19000 9.0x10” 120 0.10 2 +0.4
SCT-25 1 2 15000 2.6x10° 170 0.15 2 +0.5
SCT-32 2 4 12000 9.6x10° 280 0.15 2 +0.5
SCT -40 5 10 9600 3.2x10°® 350 0.20 2 | *05 |
SCT -50 10 20 7700 1.0x107 590 0.20 2 +0.5
SCT-63 20 40 6100 3.2x10™ 850 0.20 2 +0.5
SCTS-12 0.3 0.6 32000 2.1x107 64 0.10 2 +0.3
SCTS-16 0.5 1 24000 8.4x107 85 0.10 Z +0.3
SCTS-20 1 2 19000 2.4x10° 250 0.10 2 +0.3
SCTS-25 2 4 15000 6.8x10° 330 0.15 2 +0.4
SCTS-32 3.5 7 12000 2.6x107° 850 0.15 2 +0.5
SCTS-40 8 16 9600 8.7x10° 1000 0.20 2 +0.5
SCTS-50 15 30 7700 2.7x10™ 1400 0.20 2 +0.5
SCTS-63 35 70 6100 8.4x10~ 1800 0.20 2 +0.5

- 105 -



SCT/SCTS-C

48 »D16~2D32

O~ < / Dimension

Y e
&Nl
L]

pd2

SHE 2D40 ~2D63

18]

FA#ERY / 20553\ / et as
COUPLING / SLITTED CLAMP TYPE

B i /Unit: mm

d1xd2

Catalo R0 E Mass**
Numbeg D I L G H M g qE
ﬂﬁ Min Max (9)
SCT-12C 12 5 18.5 2.5 4 M2 3 5 3.6 |
SCT -16C 16 6.5 23 3.25 5 M2.5 4 | 6 _ 8.2 |
SCT -20C 20 7.5 26 3.75 6.5 M3 4 8 16
SCT -25C 25 8.5 31 4.25 9 M4 5 | 10 28
SCT - 32C 32 12 41 6 11 M4 6 | 14 64 |
SCT -40C 40 15 56 8.5 14 M5 8 | 16 | 140 |
SCT -50C 50 18 71 10.5 18 M6 12 | 22 270
SCT -63C 63 22 90 13 24 M8 14 | 35 530 |
SCTS-12C 12 5 18.5 2.5 4 M2 3 5 10
SCTS-16C 16 6.5 23 3.25 5 M2.5 4 6 | 25 |
SCTS-20C 20 7.5 26 3.75 6.5 M3 4 8 43
SCTS -25C 25 8.5 31 4.25 9 M4 6 | 10 | . 78
SCTS-32C 32 12 41 6 11 M4 8 14 170
SCTS -40C 40 15 56 8.5 14 M5 8 | 16 | 370
SCTS-50C 50 18 71 10.5 18 M6 12 | 22 | 750 |
SCTS-63C 63 22 90 13 24 M8 14 | 35 1400
& 1 Bt / Function
Ma_xA ) )
Catalog Nurmber | Raed Torae| MaxTorass | Foveueney | bfmons | sitvoms | Ecoonicty, | Anguoty | Eneopiny
RIS —BEN | BAHRN | EEEEY o | RIMERNE BFHEED BHRA | DHMANGE
(N.m) (N.m) (min™) (kg- m?) (N.m/rad) (mm) (") (mm)
SCT -12C 0.2 0.4 12000 7.8x10° 35 0.10 2 0.3 |
SCT -16C 0.3 0.6 9500 3.4x107 47 0.10 2 +0.4
SCT -20C 0.5 1 7600 9.1x10” 120 0.10 o +0.4
SCT -25C 1 2 6100 2.6x10° 170 0.15 2 +0.5
SCT -32C 2 4 4800 9.7x10° 280 0.15 2 +0.5
SCT -40C 5 10 3800 3.3x10° 350 0.20 2 +0.5
SCT -50C 10 20 3100 1.0x10™ 590 0.20 2 +0.5
SCT -63C 20 40 2400 3.2x10* 850 0.20 2 +0.5
SCTS-12C 0.3 0.6 12000 2.2x10” 64 0.10 2 +0.2
SCTS-16C 0.5 1 9500 9.0x10” 85 0.10 2 +0.3
SCTS-20C 1 2 7600 2.5x10° 250 0.10 2 +0.3
SCTS-25C 2 4 6100 7.1x10° 330 0.15 2 +0.4
SCTS-32C 3.5 7 4800 2.7x10° 850 0.15 2 +0.5
SCTS-40C 8 16 3800 9.0x10” 1000 0.20 2 +0.5
SCTS-50C 15 30 3100 2.8x10™ 1400 0.20 2 +0.5
SCTS-63C 35 70 2400 8.8x10™ 1800 0.20 2 +0.5

- 106 -



SWS /| SWSS &5l iowra s serscrew rvee

L
G G
B e i —
SE D 3|9
I
4R <f /| Dimension ' 88 {7 /Unit: mm
Catalog d1xd2 Mass**
Number D I L G M pyis HE
RS Min | Max (9)
SWS-16 16 6.8 18 3 M3 5 6 7.4
SWS-20 20 7.65 20 3 M4 5 10 12
SWS-25 25 9.6 25 4 M4 6 12 24
SWS-32 32 12.6 32 6 M5 6 14 50 |
SWSS -16 16 6.8 18 3 M3 5 6 18
SWSS-20 20 7.65 20 3 M4 5 10 32
SWSS-25 25 9.6 25 4 M4 6 12 63
SWSS-32 32 12.6 32 6 M5 6 14 130
= £ &E / Function
| R el I M t E f f Shaft
otationa oment” Static Tortional rrors o Errors of Sha
Catalog Number| Rated Torque | Max.Torque Frequency of Inertia Siiffriss Angularity End-Play
B 5 —WEH | BAHEN REEEY & % Wi R N (E BHEA WA
(N.m) (N.m) (min") (kg - m?) (N.m/rad) () (mm)
SWS-16 0.3 0.6 24000 2.8x107 110 1 +0.2
SWsS-20 0.5 1 19000 7.5x10” 130 1 %02
SWS-25 1 2 15000 2.3x10° 350 1 +0.2
SWs-32 2 4 12000 8.0x10°® 650 1 +0.2
SWSS -16 0.5 1 24000 7.2x107 240 1 +0.1
SWSS -20 1 2 19000 2.0x10° 330 T
SWSS-25 2 4 15000 6.1x10° 720 1 +0.2
SWSS -32 3.5 7 12000 2.1x10° 1300 1 +0.2
= ¥ & /Material:
SWS #RFI-3BE & /Aluminum alloy
SWSS % 5—F §% # /Stainless steel e @%ﬁﬂ-\ / Product NO:
@ B /Features
1.—R8A & ~ /\I5 /One -body shape. SWS -20 - P36 X6
2.Z &M /Zero backlash.
3.ItEK /High rigid. : %/ Type A8/ Inside dia

4.1 B R E & 1E /High deflection.
5.BERKX : BEMEM /Fixed mode:Set screw type.

-107 -



SCT/SCTS-

&R </ Dimension

FRRER / PE3ETY / BRI st AR
COUPLING / SLITTED CLAMP TYPE

B {7 /Unit:mm

2.2 7% /Zero backlash.

3.WI1% X /High rigid.
4.1 & R Z & {£ /High deflection.
5.BFEFHR : BEIX /Fixed mode:Clamp type.

-108 -

Catalog dixd2 Mass**
Number D I L G H M g uE
ﬂﬁ Min Max (9)
SWS-16C 16 6.8 18 3.4 5 M2.5 5 6 8
SWS-20C 20 7.65 20 3.8 6.5 M3 5 8 13 |
SWS-25C 25 9.6 25 4.8 9 M3 g | 10 25
SWS-32C 32 12.6 32 6.3 11 M4 6 | 14 53
SWSS-16C 16 6.8 18 3.4 5 M2.5 5 6 21
SWSS -20C 20 7.65 20 3.8 6.5 M2.5 5 8 36
SWSS-25C 25 9.6 25 4.8 9 M3 6 | 10 69
SWSS-32C 32 12.6 32 6.3 1 M4 8 | 14 150
# M g€ / Function
R Max ] M Static Tortional E f E f Shaft
otationa nt* tatic Tortional Imors o rrors o al
Catalog Number | Rated Torque | Max.Torque Frequsncy of et 1 Kol End-Play
ik —EAh BRAXHEAN Be OEH - k3 MItEEERNE B RA BEFMmEfE
(N.m) (N.m) (min") (kg - m?) (N.m/rad) (%) (mm)
SWS-16C 0.3 0.6 9500 2.9x107 110 1 +0.2
SWs-20C 0.5 1 7600 7.5x10” 130 1 02
SWS-25C 1 2 6100 2.3x10° 350 1 +02 |
SWS-32C 2 4 4800 8.1x10° 650 1 +0.2
SWSS -16C 0.5 1 9500 7.8x107 240 1 +0.1
SWSS-20C 1 2 7600 2.1x10° 330 1 +0.1
SWSS -25C 2 4 6100 6.3x10° 720 1 +0.2
SWSS-32C 3.5 7 4800 2.2x10° 1300 1 +0.2
& ¥ & /Material:
SWS HFI-48& & /Aluminum alloy
SWSS F 57§ #l /Stainless steel = RUSE R TR/ Product NO:
& 1% /Features
1.—BE8RL A  /\15 /One -body shape. SWS -20c - P30 X0

RISR / Type

L&/ Inside dia




SR

ME / IEIIRFETE / Berthians
COUPLING / JAW SET SCREW TYPE

L
G_F E F

R < / Dimension

SME ©D20~2D30

2d]

i

4M8 2D40~2DB5

B {7 /Unit: mm

Catalog d1xd2 Mass**
Number D I L E F G M eran CF |
gl_é% Min Max (9)
SRJ-20-RD 20 10 30 8 1 5 M3 5 9.525 18
SRJ-30-RD 30 11 35 10 158 5.5 M4 6 |14 46
SRJ-40-RD 40 25 66 12 2 12.5 M5 8 |20 180
SRJ-40S-RD 40 14 42 12 2 7 M5 8 |>p 150
SRJ-55-RD 55 30 78 14 2 15 M6 15 |25 350
SRJ-65-RD 65 35 90 15 2.5 175 M8 15 |35 570
% 8E / Function
R e | Errors of E f |Er S
otationa Moment* | Static Tortional rrors rors o rrors of Shaft
Catalog Number | Rated Torque | Max.Torque Frequency of Inertia Stiffness Eccentricity Angularity End-Play
B3 —REh BRA/RN EEEHH | o MIttEBRNE BTHERO FHRA |FermmfiE
(N.m) (N.m) (min") (kg+ m?) (N.m/rad) (mm) (%) (mm)
SRJ-20-RD 5 10 19000 1.0x10°® 55 0.10 1.0 +0.4
SRJ-30-RD 12.5 25 13000 59x10° 130 0.10 1.0 +0.5
SRJ-40-RD 17 34 9600 4.0x107° 1200 0.10 1.0 +0.6
SRJ-40S-RD 17 34 9600 4.0x10° 1200 0.10 1.0 +0.6
SRJ-55-RD _60 120 7000 1.7x10™ 2600 0.10 1.0 +0.7
SRJ-65-RD 160 320 5900 3.9x10% 4900 0.10 ° 1.0 +0.75
# & /Material: 884 £ /Aluminum alloy
5 1j 2 — .
Y514 /Features RUSE R N/ Product NO:

1.5 7 /High torque.
2.3 RI14% /High rigid.

3.31 B {£ /High vibration resistance.

4.8 & B — RS &) K tDHI ¥ /Applicable for the ordinary

transferring and cutting demand.

SRJ-20-RD - 26x26

548K : T#2¥852 /Buffer Material : Engineering class plastic. |
6.BEAX : IEfT1E#EEL/Fixed mode : Set screw type.

-109 -

B/ Type

FL7E / Inside dia




MEY / 3RERTN / EErE sk as
COUPLING / JAW CLAMP TYPE

SRJ-

442 0D40~2D65

R <f / Dimension 2 {17 /Unit: mm

1.5 11 51 /High torque.
2.5 Mt /High rigid.
3.5 B {£ /High vibration resistance.

4.8 & B — S 8) K LI HI 14 /Applicable for the ordinary

transferring and cutting demand.

5.4E1& Kt : TH2¥BR8 /Buffer Material : Engineering class plastic.

6.EEF : HE3 /Fixed mode : Clamp type.

- 110 -

Catalog d1xd2 Mass**
Number D [ L E F G H m | BRE) mm
ik Min | Max (9)
SRJ-20C-RD 20 10 30 8 1 5 6.5 M2.5 5 8 19
SRJ-30C-RD 30 11 35 10 1.5 5.5 10 M4 6 | 14 50
SRJ-40C-RD 40 25 66 12 2 8.5 14 M5 |10 | 19| 160
SRJ-55C-RD 55 30 78 14 2 10.5 20 M6 15 | 25 330
SRJ-65C-RD 65 35 90 15 2.5 13 24 M8 15 | 35 560
1 g€ / Function
R e oM Static T Errors of E f | Errors of
| Rotationa oment* | Static Tortional mors rors of rrors of Shaft
Catalog Number | Rated Torque | Max.Torque | groouency | of Inertia Stiffness Eccentricity =~ Angularity End-Play
i pick-id —pEh BXHEN EEOEY Li- T RittsEHRN{E| BHEC BHERA FHdERuE
(N.m) (N.m) (min™) (kg - m?) (N.m/rad) (mm) (°) (mm)
SRJ-20C-RD 5 10 7600 1.1x107° 55 0.10 1.0 +0.4
SRJ-30C-RD 12.5 25 5100 6.2x10° 130 0.10 1.0 +0.5
SRJ-40C-RD 17 34 3800 3.9x10% 1200 0.10 1.0 +0.6
SRJ-55C-RD 60 i 120 2800 1.6x10* | 2600 0.10 1.0 +0.7
SRJ-65C-RD 160 [ 320 2350 3.8x10™ | 4900 0.10 1.0 +0.75
¥ E /Material: 884 £ /Aluminum alloy
+ & —
4514 /Features RUSE IR/ Product NO:

SRJ-20C-RD - 26

I
RIS / Type

X6
|

L&/ Inside dia



SMT

IRNER / LE(JIRMEED / SIEREnas
COUPLING / SHAPED SPIRALLY CLAMP TYPE

G G
= | Al o o
3 T OO ¢ S
1 I
&R </ Dimension B {7 /Unit : mm
Catalog d1xd2 Mass**
Number D I L G M e HE
ﬁj Min Max (9)
SMT-16 16 4 23 2.5 M3 4 8 10
SMT-16S 16 4 16 2:5 M3 4 8 8
SMT-19 19 6.5 23 3 M3 6 8 13
SMT-19S 19 4.5 19 3 M3 6 8 11
SMT-20 20 8 26 3 M4 6 10 13
SMT-25 25 10 31 4 M4 6 12 31
SMT-258 25 7 25 4 M4 6 12 29
& £ 8E / Function
R i [ Errors of Shaft E f E f
otationa rrors a rrors o rors o
Catalog Number| Rated Torque Mex: Torque Frequency End-Play Eccentricity Angularity
Bu g —mEHh BAHD = b S BHMRALE BRI BHRA
(N.m) (N.m) (min™) (mm) (mm) (°)
SMT-16 0.5 1 25000 +0.25 0.25 5
SMT-16S 0.5 1 25000 *+0.25 0.25 5
SMT-19 1 2 25000 *0.25 .0.25 5
SMT-19S 1 2 25000 *0.25 0.25 5
SMT-20 1.1 2.2 25000 +0.25 0.25 b
SMT-25 1.6 3.2 25000 +0.25 0.25 5
SMT-25S 1.6 3.2 25000 +0.25 0.25 5
& ¥ 8 /Material: $84 £ /Aluminum alloy
® 151 IFeatures € BU3EIR TR/ Product NO:

1.—f4 pf ® /One -body shape.

2. ZF 75 /Zero backlash.
MR hEN B - AIEMEYS4E /The groves are shaped spirally

with its excellent flexibility.

4.5 8 & ENCODER/ It fits to ENCODER.
5.BEFEAN ¢ IE{TEE#E E X /Fixed mode:Set screw type

-111 -

SMT-20 - 26x26

RISk / Type

L8/ Inside dia




SMT - c URheRY / IRERT / BEEEsENAR
COUPLING / SHAPED SPIRALLY CLAMP TYPE
L
G
- Q ] @ =
LT
o 0
1 I
# R </ Dimension B {7 /Unit: mm
Catalog 1xd2 Mass**
Number D I L G H M ;g ¢ |
g% Min Max (9)
SMT-16C 16 4 20 25 5 M2.5 4 6.35 10
SMT-19C 19 6.5 23 3 5.6 M3 4 8 13
SMT-20C 20 8 26 3 5.7 M3 6 8 13
SMT-25C 25 10 31 4 7.5 M4 6 12 31
# ™ HE / Function
i o E f Shaft E f E f
i mors o mors o
Catalog Number| Rated Torque Max.Torque E:;t:ﬂg:g; nEo.-r.Z?m;;a Eccentricity Angularity
ik . €719 gAXHEN = B E FErEim I E BHRD FHHRA
(N.m) (N.m) (min™) (mm) (mm) (*)
SMT-16C 0.5 1 25000 +0.25 0.25 5
SMT-19C 0.5 1 25000 +0.25 0.25 5
SMT-20C 1 2 25000 +0.25 .0.25 H
SMT-25C 1.1 2.2 25000 +0.25 0.25 5
@ M & /Material: 84 £ /Aluminum alloy
& 4514 /Features & BUSEFR TR/ Product NO:

1.—B& g U /One -body shape.
2. Z %P /Zero backlash.

JURNE B HE » R34S /The groves are shaped spirally

with its excellent flexibility.
4.8z & ENCODER/ It fits to ENCODER.
5.EFEAN - EKX /Fixed mode: Clamp type.

-112 -

SMT-20C - 26x26

|

RS/ Type

|

.12/ Inside dia




SGH - c dFy / REET / BErLRERRR
COUPLING / DISK CLAMP TYPE

L
J
G I
@ |
P S
i~
1 I
O ~F/ Dimension & {7 /Unit: mm
Catalog d1xd2 Mass**
Number D B J I L G M o uE
ﬁ_h“ﬁ Min | Max (9)
SGH-40C 40 28 12 16.5 38 6 M4 8 14 63
SGH-50C 50 39 15 19.4 44 7 M5 12 20 120
SGH-65C 65 45 18 22.3 50 8 M6 15 25 200
&t #E / Function
R e [ Static T 1| E f Shaft Errors of
otationa M t tatic Tortiona rrors a rrors
Catalog Number | Rated Torque Meor. Torgues Frequency ofTrTeer:‘ia Stiffness End_omay Angularity
Rige —fHAh BX#H B EEY & % R ALE | FFE@EUE BRiriRA
(N.m) (N.m) (min’) (kg m?) (N.m/rad) (mm) (")
SGH-40C 6 12 3800 1.2x10° 2800 +0.2 1.0
SGH-50C 12 24 3100 3.7x10° 3700 +0.2 1.0
SGH-65C 19 38 2400 8.4x10° 5000 ! +0.2 1.0
& ¥ & /Material: $84 £ /Aluminum alloy
@ 451 /Features
1.& MitE /High-rigid.
2.3# 71K /High torque. @ BUE R TR/ Product NO:

3. 1EA8 M /Low inertia.

4. B /Zero backlash.

5 8A MK TERH - BHE@E /The featrues applicable for SGH-40C - 28x@8
T i

working machinery and it comes with the hi-precision transfer
function.

6. XE @M : & #% K /Buffer Material: SUS disk.

7.EBE AKX : K /Fixed mode: Clamp type.

RS / Type FLIE / Inside dia

G




SGS-C

#iF /7R JREETN / BRI EREAER
COUPLING / SHORT DISK CLAMPING TYPE

L
.L_,ﬂr
S0
) S il i
; I [—— ] (-
®R </ Dimension B i /Unit: mm
Catalog d1xd2 Mass**
Number D ! F L H M pans e
Bak Min | Max (@)
S$GS-27C 27 10.5 2.5 23.5 g M3 5 | 10 30
SGS-34C 34 12 3.5 26.5 12 M3 6 | 14 48
SGS-40C 40 15 45 35 13.5 M4 8 | 16 93
S$GS-50C 50 19 6 45 19 M5 10 | 18 215
SGS-65C 65 24 7 55 23 M6 12 | 28 445
& 1 HE / Function
R Mo | M E f E f E £
otationa t* rors o Shaft ITors o
Catalog Number| Rated Torque Max.Torque Frequency ofTrTeerEa Eccentricity rg;?playa Angularity
Righ —WEH BAHA BEOEY ® BHRD B R BHRA
(N.m) (N.m) (min™) (kg+ m%) (mm) (mm) ()
$GS-27C 1.5 3 10000 2.5 x10° 0.02 +0.15 1.0
S$GS-34C 3 12 10000 8.2 x10° 0.02 +0.2 1.0
$GS-40C 6 14 10000 19.0 x10° 0.02 +0.25 1.0
SGS-50C 12.5 25 10000 75.0 x10° 0.02 +0.4 1.0
S$GS-65C 22.5 55 10000 250.0 x10° 0.02 +0.45 1.0

% # & /Material: $8 & & /Aluminum alloy

& 4514 /Features

1.5 M1 /High-rigid.
2.8 73K /High torque.
3. K f&1% /Low inertia.

4. 273 & /Zero backlash.

5.3 & B K2 5 BB B E /it fits of servomotor.
6.1E®EHM : T #E H /Buffer Material: SUS disk.
7.BEFH X : LB /Fixed mode: Clamp type.

& BUSE R TR/ Product NO:

SGS-40C - 28x28

- 114

BUSE / Type

|

FLEE/ In;ide dia



